
PROFESSIONAL EXAMINATION BOARD
Group­3 Technical Selection Test 2016

6th April 2016, 02:00 AM
Topic:­ G3_General Knowledge
1)

Question Stimulus :­

General Knowledge

Which of the following instrument is used only for assessing heart related problems? / কदय ऺĀĀॎ
ऺमĀॊओॠ कॊ आकलन करनॕ कॕ ोलए ोनĀ म७ ऺॕ ोकऺ यॠআ कॊ ঋयख़ग ोकयॊ जॊतॊ ऻॖ?

ECG / ईऺॎजॎ

MRI / एमआरआई

X Ra / एস­रॕ

CT Scan / ोऺटॎ Āॖन

Correct Answer :­ECG / ईऺॎजॎ 

2)

Question Stimulus :­

General Knowledge

Total strength of  Lok Sabha is: / लख़कऺभॊ कॎ कॏ ल ঴मतॊ ভॊ ऻॖ:

530 / ͚͗͜



545 / ͛͜͜

554 / ͛͜͜

564 / ͛͜͝

Correct Answer :­545 / ͛͜͜ 

3)

Question Stimulus :­

General Knowledge

Which is the largest tributary of the Ganges that does not arise from Himalaya? / गॠगॊ कॎ शऻ कग़न ऺॎ
ऺबऺॕ बीॎ उप­नदॎ ऻॖ ोजऺकॊ उĀम ोऻमॊलय ऺॕ नऻॎ ॠ ऻॖ?

Son / ऺख़न

Yamuna / यमॏनॊ

Tapti / तॊ्Ā

Betwa / बॕतशॊ

Correct Answer :­Son / ऺख़न 

4)

Question Stimulus :­

General Knowledge

Which of the following districts of Madhya Pradesh has maximum forest density? / ोनĀोल्खत म७ ऺॕ मĀ
ঋदॕष कॊ शऻ कग़न ऺॊ ोजलॊ ऻॖ ोजऺकॊ ऺशॊ१ोधक शन घनက ऻॖ?



Dhar / धॊर

Balaghat / बॊलॊघॊट

Guna / गॏनॊ

Vidisha / ोशोदषॊ

Correct Answer :­Balaghat / बॊलॊघॊट 

5)

Question Stimulus :­

General Knowledge

Which famous leader was born at MHOW of Madhya Pradesh? / मĀ ঋदॕष कॕ मॾँ म७ ोकऺ ঋोऺĀ नॕतॊ कॊ जĀ
ॽआ थॊ?

Indira Gandhi  / इॠोदरॊ गॊँधॎ

Baba Saheb Ambedkar / बॊबॊ ऺॊऻब आॠबॕडकर

Sarojini Naidu / ऺरख़ोजनॎ नॊयडॐ

Bal Gangadhar Tilak / बॊल गॠगॊधर ोतलक

Correct Answer :­Baba Saheb Ambedkar / बॊबॊ ऺॊऻब आॠबॕडकर 

6)

Question Stimulus :­

General Knowledge

How many oceans are there on earth? / प॑Āॎ पर ोकतनॕ मऻॊऺॊगर ऻ॰?



How many oceans are there on earth? / प॑Āॎ पर ोकतनॕ मऻॊऺॊगर ऻ॰?

7 / ͞

6 / ͝

5 / ͜

4 / ͛

Correct Answer :­5 / ͜ 

7)

Question Stimulus :­

General Knowledge

Which of the following is launched on 10th March 2016 by ISRO? / ोनĀ म७ ऺॕ ोकऺॕ ͗͘ मॊच१ ͙͗͘͝ कख़ इऺरख़ ကॊरॊ
ঋ঴ॕोपत ोकयॊ गयॊ थॊ?

SLV3  / एऺएलशॎ͚

INSAT / इĀॖट

PSLV  / पॎएऺएलशॎ

GSLV / जॎएऺएलशॎ

Correct Answer :­PSLV  / पॎएऺएलशॎ 

8)

Question Stimulus :­



General Knowledge

The Tansen tomb is situated at _________. / तॊनऺॕन कॊ मकबरॊ ___________ म७ ्Āथत ऻॖ|

Khandwa / खॠडशॊ

Hoshangabad / ऻख़षॠगॊबॊद

Gwalior / ৖ॊोलयर

Fatehpur Sikri / फतॕऻपॏर ोऺकरॎ

Correct Answer :­Gwalior / ৖ॊोलयर 

9)

Question Stimulus :­

General Knowledge

Which of the following districts of Madhya Pradesh have boundaries with Rajasthan? / ोनĀॊॠोकत म७ ऺॕ
मĀ ঋदॕष कॕ ोकन ोजलख़ ॠ कॎ ऺॎमॊएँ रॊजĀथॊन कॕ ऺॊथ जॏीॎ ॽई ऻ॰?

Chhatarpur / छतरपॏर

Damoh / दॊमख़ऻ

Satna  /  ऺतनॊ

Guna / गॏनॊ

Correct Answer :­Guna / गॏनॊ 

10)



Question Stimulus :­

General Knowledge

Who is the present inister of External affairs of government of India? / भॊरत ऺरकॊर कॕ ोशदॕषॎ मॊमलख़ ॠ कॕ
शत१मॊन मॠআॎ कग़न ऻ॰?

Rajnath Singh /  रॊजनॊथ ो ॠऺऻ

Arun Jaitley / अॹण जॕटलॎ

Venkaiah Naidu / श७कॖयॊ नॊयडॐ

Sushma Swaraj /  ॏऺहमॊ Āरॊज

Correct Answer :­Sushma Swaraj /  ॏऺहमॊ Āरॊज 

11)

Question Stimulus :­

General Knowledge

Which of the following is a renewable energy source? / ोनĀोल्खत म७ ऺॕ कग़न नशॎकरणॎय ऊजॊ१ ঔख़त ऻॖ?

Sunlight /  ॐऺय१ कॊ ঋकॊष

Coal / कख़यलॊ

Mineral / खोनज

Petroleum / पॕट३ ख़ोलयम

Correct Answer :­Sunlight /  ॐऺय१ कॊ ঋकॊष 



12)

Question Stimulus :­

Gemeral Knowledge

Which of the following film was shot in Madhya Pradesh? / ोनĀ म७ ऺॕ ोकऺ ोफĀ कॎ षॐोटॠग मĀ ঋदॕष म७ कॎ गयॎ
थॎ?

Octopussy / ओঠख़पॏĀॎ

Jodha Akbar / जख़धॊ अकबर

Rajput / रॊजपॐत

Rajneeti / रॊजनॎोत

Correct Answer :­Rajneeti / रॊजनॎोत 

13)

Question Stimulus :­

General Knowledge

Who is the captain of Pakistan cricket team in T20 world cup held in India in 2016? / ͙͗͘͝ म७ भॊरत म७
आयख़ोजत टॎ͙͗ ोशĀ कप म७ पॊोकĀॊनॎ ोॿकॕट टॎम कॕ कĀॊन कग़न ऻ॰?

Mohammad Hafeez / मख़ऻĀद ऻॊोूि

Shoaib Malik / षख़एब मोलक

Shahid Afridi / षॊोऻद अफरॎदॎ



Umar Akmal / उमर अकमल

Correct Answer :­Shahid Afridi / षॊोऻद अफरॎदॎ 

14)

Question Stimulus :­

General Knowledge

Saina Nehwal is a champion player of ________. / ऺॊइनॊ नॕऻशॊल ___________ कॎ च॰ोपयन ोख़लॊीॎ ऻ॰|

Tennis / टॕोनऺ

Badminton / बॖडोमॠटन

Squash / ကॊष

Cricket / ोॿकॕट

Correct Answer :­Badminton / बॖडोमॠटन 

15)

Question Stimulus :­

General Knowledge

The author of the renowned book 'Glimpses of World History' is: / ঋोऺĀ ोकतॊब 'ोशĀ इोतऻॊऺ कॎ
झलक(्৕Āऺ ऑू शĀ१ ोऻĀ३ॎ)’ कॕ लॕखक ऻ॰:

Dr. A.P.J. Abdul Kalam / डॗ. ए. पॎ. जॕ. अĀॏल कलॊम 

Smt. PrathibaPatil / ঒ॎमतॎ ঋोतभॊ पॊोटल



Jawaharlal Nehru / जशॊऻरलॊल नॕऻॹ

S. Radhakrishnan / एऺ. रॊधॊक॑Āन 

Correct Answer :­Jawaharlal Nehru / जशॊऻरलॊल नॕऻॹ 

Topic:­ G3_General Hindi
1)

Question Stimulus :­

Hindi

‘फॏ फॕरॊ’ षĀ म७ कग़न ऺॊ ঋĀय ऻॖ?

रॊ

एरॊ

ऐरॊ

आ

Correct Answer :­एरॊ 

2)

Question Stimulus :­

Hindi

‘उऺनॕ कऻॊ थॊ’ कॕ लॕखक ऻ॰­

डॗ. रघॏशॎर



ऻजॊरॎ ঋऺॊद

ऻौरषॠकर पॊरऺॊई

चကधर षमॊ१‘गॏलॕरॎ’

Correct Answer :­चကधर षमॊ१‘गॏलॕरॎ’ 

3)

Question Stimulus :­

Hindi

‘इৢॊ’ कॊ पयॊ१यशॊचॎ षĀ ऻख़गॊ­

अोमय

ऻह१

आकॊॠ঴ॊ

र्Ā

Correct Answer :­आकॊॠ঴ॊ 

4)

Question Stimulus :­

Hindi

अनॕक षĀख़ॠ कॕ ोलए एक षĀ कॊ चयन कॎोजए­

‘जख़ कऻॊ न जॊ ऺकॕ’



अकोथत    

अकथनॎय

अकĀ

नॊमॏमोकन

Correct Answer :­अकĀ 

5)

Question Stimulus :­

Hindi

‘अĀॊचॊर’ षĀ म७ उपऺग१ ऻख़गॊ­

अ

अĀॊ

अोत

 चॊर

Correct Answer :­अोत 

6)

Question Stimulus :­

Hindi

एक षĀ कॕ तॎन अनॕकॊथ५ षĀ ऻ॰। जख़ षĀ इऺ ঒ॕणॎ म७ नऻॎ ॠ आतॊ ऻॖ; शऻॎ उĀर ऻख़गॊ।



अॿॐ र

ोमআ

षআॏ

क॑Ā कॕ चॊचॊ

ोशनএ

Correct Answer :­षআॏ 

7)

Question Stimulus :­

Hindi

‘तĀय’ म७ कग़न ऺॎ  ॠऺोध ऻख़गॎ?

ကॠजन  ॠऺोध

ोशऺग१  ॠऺोध

Āर  ॠऺोध    

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ကॠजन  ॠऺोध 

8)

Question Stimulus :­



Hindi

नॎचॕ ोलखॕ षĀख़ॠ म७ कग़न षॏĀ षĀ ऻॖ?

ĀॊĀ

ĀॊĀथ

ॏऺशॊĀथ

Āॊऺथ

Correct Answer :­ĀॊĀ 

9)

Question Stimulus :­

Hindi

‘षॊĀ’ षĀ कॊ ोशलख़म ऻख़गॊ­

लघॏ

चॠचल

डरपख़क

बऻॊदॏर

Correct Answer :­चॠचल 

10)



Question Stimulus :­

Hindi

‘ऺदॖश’ म७  ॠऺोध ोशৢॕद ऻख़गॊ­

ऺदॊ+एश    

ऺदॊ+ऐश

ऺद+ऐश     

ऺतॊ+एश

Correct Answer :­ऺदॊ+एश     

11)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀख़ॠ म७ ऺॕ ोभĀ षĀ कॊ चयन कॎोजए­

भॏजॠग

मनख़ज

कॠ दप१

अनॠग

Correct Answer :­भॏजॠग 



12)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ षॏĀ शॊভ कॊ चयन कॎोजए­

कल पॊठ पुकर आइए।

पॊठ पुकर कल आइए

पॊठ पुकर आइए कल

आइए कल पॊठ पुकर

Correct Answer :­पॊठ पुकर कल आइए 

13)

Question Stimulus :­

Hindi

‘गॏल ्खलॊनॊ’ मॏऻॊशरॕ कॊ अथ१ ऻख़गॊ­

मग़ज करनॊ

बॽत गॏĀॊ आनॊ

ကशधॊन पीनॊ

कख़ई बखॕीॊ खीॊ करनॊ

Correct Answer :­कख़ई बखॕीॊ खीॊ करनॊ 



14)

Question Stimulus :­

Hindi

ोदĀॎ­मॕरठ कॕ आऺ­पॊऺ कग़न ऺॎ बख़लॎ बख़लॎ जॊतॎ ऻॖ।

঍जभॊहॊ    

ब ॠॗगॺ

खीॎ बख़लॎ   

अशधॎ

Correct Answer :­खीॎ बख़लॎ    

15)

Question Stimulus :­

Hindi

‘नॎलकमल’ म७ ऺमॊऺ ऻख़गॊ­

बॽ঍ॎोऻ

तĀॏॹह

कम१धॊरय

ोကगॏ



Correct Answer :­कम१धॊरय 

Topic:­ G3_General English
1)

Question Stimulus :­

English

The following sentence is split in three parts and each one is labelled (A), (B), and (C). Read the
sentence to find out whether there is an error in any part. Letter (D) signifies a ‘No error’.

I would (A) never do this (B) if I were you (C).

A) I would

B) never do this

C) if I were you

D) No error

Correct Answer :­D) No error 

2)

Question Stimulus :­

English

Fill in the blank:

She __________ the room when the bell rang.

was cleaning



is cleaning

cleaned

cleans

Correct Answer :­was cleaning 

3)

Question Stimulus :­

English

Find the odd word out:

Fast, quick, slow, rapid

Fast

Quick

Slow

Rapid

Correct Answer :­Slow 

4)

Question Stimulus :­

English

The following sentence is split in three parts and each one is labelled (A), (B), and (C). Read the
sentence to find out whether there is an error in any part. Letter (D) signifies a ‘No error’.



I (A) have been (B) to Paris in 2012 (C).

A) I

B) have been

C) to Paris in 2012

D) No error

Correct Answer :­B) have been 

5)

Question Stimulus :­

English

Complete the idiom:

My efforts went to waste. I now have to start from the ___________ again.

square one

scratch

task

first

Correct Answer :­scratch 

6)

Question Stimulus :­



English

Identify the given sentence.

Did he go to the dentist yesterday?

Interrogative

Declarative

Imperative

Exclamatory

Correct Answer :­Interrogative 

7)

Question Stimulus :­

English

Find the odd word out:

Ache, comfort, pain, agony

Ache

Comfort

Pain

Agony

Correct Answer :­Comfort 



8)

Question Stimulus :­

English

Which of the below given words is spelt correctly?

Opponennt

Oponent

Opponent

Oponnent

Correct Answer :­Opponent 

9)

Question Stimulus :­

English

Find the odd word out:

Onion, pineapple, turnip, celery

Onion

Pineapple

Turnip

Celery



Correct Answer :­Pineapple 

10)

Question Stimulus :­

English

What is the synonym of: astonish

Threaten

Warn

Amaze

Caution

Correct Answer :­Amaze 

11)

Question Stimulus :­

English

What is the antonym of: brave

Heroic

Courageous

Bold

Afraid



Correct Answer :­Afraid 

12)

Question Stimulus :­

English

Fill in the blank:

You _____________ go to the doctor if you are not feeling well.

should

can

may

might

Correct Answer :­should 

13)

Question Stimulus :­

English

Identify the given sentence:

Don’t do that.

Interrogative

Exclamatory



Declarative

Imperative

Correct Answer :­Imperative 

14)

Question Stimulus :­

English

Which of the below given words is spelt correctly?

Possessive

Posesive

Possesive

Posessive

Correct Answer :­Possessive 

Topic:­ G3_General Maths
1)

Question Stimulus :­

Maths

If sinA + cosecA = 2, find the value of sin71A + cosec17A. / योद sin A + cosec A = ͙ ऻ॰,तख़ sin71A +
cosec17A कॊ मॊन ोनकॊल७|

0



2 / ͙

­1 / ­͘

­2 / ­͙

Correct Answer :­2 / ͙ 

2)

Question Stimulus :­

Maths

A number is chosen at random from 1, 2, 3, …., 48, 49, 50. What is the probability that it is a prime
number? / ͘,͙,͚,...., ͛͟,͛͠,͗͜ ऺॕ एक  ॠऺূॊ कख़ अोनयोमत ॺप ऺॕ चॏनॊ जॊतॊ ऻॖ।तख़ उऺकॕ अभॊĀ  ॠऺূॊ ऻख़नॕ कॎ ोकतनॎ
ऺĀॊशनॊ ऻॖ?

0.35 / ͗.͚͜

0.15 / ͗.͘͜

0.30 / ͗.͚͗

0.16 / ͗.͘͝

Correct Answer :­0.30 / ͗.͚͗ 

3)

Question Stimulus :­

Maths

What is the sum of deviations of numbers 2, 3, 4, 5, 7, 9 taken from their arithmetic mean? /
अॠकगोणतॎय मॊĀ ऺॕ ोलए गए  ॠऺূॊओॠ ͙,͚,͛,͜,͞,͠ कॕ ोशचलनख़ ॠ  कॊ यख़ग ভॊ ऻॖ?



अॠकगोणतॎय मॊĀ ऺॕ ोलए गए  ॠऺূॊओॠ ͙,͚,͛,͜,͞,͠ कॕ ोशचलनख़ ॠ  कॊ यख़ग ভॊ ऻॖ?

1 / ͘

­1 / ­͘

2 / ͙

0

Correct Answer :­0 

4)

Question Stimulus :­

Maths

What number must be added to each of the numbers 56, 49, 2, 1 so that the results are in
continued proportion? / ঋĀॕक  ॠऺূॊओॠ ͜͝,͛͠,͙,͘, कॕ ऺॊथ ोकऺ  ॠऺূॊ कख़ जख़ी७गॕ तॊोक पौरणॊम ोनरॠतर अनॏपॊत म७ ऻॎ
आए?

5 / ͜

4 / ͛

7 / ͞

8 / ͟

Correct Answer :­7 / ͞ 

5)



Question Stimulus :­

Maths

In triangle ABC, each of the base angles is 45o. Measure of the base is 20 cm. What is the area of
the triangle ABC? / ोআभॏज(एबॎऺॎ)ABC म७, ঋĀॕक आधॊर कॊ कख़ण ͛͗͜ ऻ॰|आधॊर कॊ मॊप ͙͗ ऺॕमॎ ऻॖ|ोআभॏज(एबॎऺॎ)ABC कॊ
঴ॕআफल ভॊ ऻॖ?

200 cm2 / ͙͗͗ ऺॕमॎ͙

100 cm2 / ͗͗͘ ऺॕमॎ͙

400 cm2 / ͛͗͗ ऺॕमॎ͙

360 cm2 / ͚͗͝ ऺॕमॎ͙

Correct Answer :­100 cm2 / ͗͗͘ ऺॕमॎ͙ 

6)

Question Stimulus :­

Maths

Given x3 + y2 + 3xy = 125 and 27x2y + 27x3 + 9xy2 + y3 = 0, what is the value of (x + y)? / ोदए गए
x͚ + y͙ + ͚xy = ͙͘͜  और ͙͞x͙y + ͙͞x͚ + ͠xy͙+ y͚ = ͗ ऻॖ ,तख़ (x + y) कॊ मॊन ভॊ ऻॖ?

5 / ͜

­5 / ­͜

10 / ͗͘



– 10 / ­͗͘

Correct Answer :­– 10 / ­͗͘ 

7)

Question Stimulus :­

Maths

The perimeters of two similar triangles ABC and PQR are 240 cm and 180 cm respectively. If one
side of the first triangle ABC is 80 cm, what is the corresponding side of the other triangle? / दख़ ॠ
ऺॊमॊन ोআभॏजख़ ॠ एबॎऺॎ(ABC) और पॎভॐआर(PQR) कॎ पौरोध ॿमषॡ ͙͛͗ ऺॕमॎ और ͗͘͟ ऺॕमॎ ऻ॰|योद पऻलॕ ोআभॏज एबॎऺॎ(ABC)
कॊ एक प঴ ͗͟ ऺॕमॎ ऻॖ,तख़ दॐ ऺरॕ ोআभॏज कॊ  ॠऺगत भॏजॊ ভॊ ऻ॰?

72 cm / ͙͞ ऺॕमॎ

66 cm / ͝͝ ऺॕमॎ

60 cm / ͗͝ ऺॕमॎ

75 cm / ͜͞ ऺॕमॎ

Correct Answer :­60 cm / ͗͝ ऺॕमॎ 

8)

Question Stimulus :­

Maths

What is the ratio of product and sum of roots of the equation: 2x3 – 2x2 + 5x – 16 = 0? / ऺमॎकरण
͙x3 – ͙x2 + ͜x – ͘͝ =͗ कॊ गॏणनफल कॊ अनॏपॊत और ऺमॎकरण कॕ मॐलख़ ॠ कॊ यख़गफल ोनकॊल७?



4 : 1 / ͛:͘

2 : 1 / ͙:͘

3 : 1 / ͚:͘

8 : 1 / ͟:͘

Correct Answer :­8 : 1 / ͟:͘ 

9)

Question Stimulus :­

Maths

Sum of money is compounded annually at r%. Compound interest on it was Rs. 4500 and Rs. 4770
in two consecutive years. What is the value of r? /  ॠऺचय रॊोष म७ शॊोह१क दर आर(r)% कॊ  ॠऺयख़जन ऻख़तॊ ऻॖ| लगॊतॊर
दख़ ऺॊल कॕ ोलए इऺ रॊोष कॊ चॿश्॑Ā Āॊज ͛͗͗͜ और ͛͗͞͞ ऻॖ, तख़ r(आर)  कॊ पौरमॊण ভॊ ऻख़गॊ?

5.5 / ͜.͜

6 / ͝

6.5 / ͝.͜

7 / ͞

Correct Answer :­6 / ͝ 

10)

Question Stimulus :­



Maths

Find |x|, if for an unit vector a; its known that (x – a) . (x + a) = 48. / योद एक इकॊई शॕঠर ए(a) कॕ ोलए ऻॖ;
Āॊत ऻॖ ोक (x – a) . (X + a) =͛͟ ऻॖ तख़एস( x) ोनकॊल७|

7 / ͞

8 / ͟

√48 / √͛͟

3√3 / ͚√͚

Correct Answer :­7 / ͞ 

11)

Question Stimulus :­

Maths

The average age of 30 girls in a class is equal to 14 yrs. When the age of the class teacher is also
included, the average age becomes 15 yrs. Find the age of the class teacher. / एक शग१ कॎ ͚͗ लीोकयख़ ॠ कॎ
औऺत उএ ͛͘ ऺॊल कॕ बरॊबर ऻॖ।जब उऺम७ शग१ ोष঴क कॎ उএ कख़ भॎ षॊोमल ोकयॊ जॊतॊ ऻॖ, तख़ औऺत उএ ͘͜ ऺॊल ऻख़ जॊयॕगॎ|तख़ शग१
ोष঴क कॕ उএ कॊ पतॊ लगॊय७|

35 years / ͚͜ ऺॊल

40 years / ͛͗ ऺॊल

52 years / ͙͜ ऺॊल

45 years / ͛͜ ऺॊल



Correct Answer :­45 years / ͛͜ ऺॊल 

12)

Question Stimulus :­

Maths

Y = 4X3 – 6X2 + 15X – 19 and Z = 3X2 + 5X – 9. Find the value of (dY/dX)(dZ/dX) when x = 1. /
शॊई( Y) = ͛X͚ – ͝X͙ + ͘͜X – ͘͠ और जॕड(Z) = ͚X͙ + ͜X – ͠ ऻ॰|जब एস(x) =͘,तख़ (dY/dX)(dZ/dX) कॊ मॊन
ोनकॊल७|

150 / ͗͘͜

165 / ͘͜͝

175 / ͘͜͞

195 / ͘͜͠

Correct Answer :­165 / ͘͜͝ 

13)

Question Stimulus :­

Maths

Price of a premium quality Tea is Rs.240 per kg. It increases by 25%. By how much percent the
consumption should be reduced so as to keep the expenditure same as before? / ঋॎोमयम রॊोलटॎ
चॊयपĀॎ कॊ मॐĀ ͙͛͗ ॹपयॕ ঋोत ोकঁॊ ऻॖ| यऻ 25% बढॊ ोदयॊ जॊतॊ ऻॖ।तख़ पऻलॕ कॕ ကय कॕ ॺप म७ रखनॕ कॕ ोलए ोकतनॕ ঋोतषत खपत
कम करनॎ चॊोऻए?

18.75% / ͘͟.͜͞%



20% / ͙͗%

21.22% / ͙͘.͙͙%

25% / ͙͜%

Correct Answer :­20% / ͙͗% 

14)

Question Stimulus :­

Maths

X is the smallest  four digit number such that when divided by 3, 4, 5, 6, 7, 8, 9 leaves remainder 2
in each case. Y is five times X. Find Y. / चॊर अॠकख़ ॠ कॎ ऺबऺॕ छख़टॎ  ॠऺূॊ एস(X)ऻॖ जब उऺॕ ͚,͛,͜,͝,͞,͟,͠,ऺॕ
ोशभॊोजत ोकयॊ जॊतॊ ऻॖ तख़ ঋĀॕक ्Āथोत म७ षॕह ͙ ऻॎ बचतॊ ऻ॰|शॊई(y),एস( x) कॕ  पॊॠच गॏणॊ ऻॖ तख़ शॊई(y) ोनकॊल७|

75600 / ͗͗͜͞͝

12610 / ͙͗͘͘͝

38170 / ͚͗͘͟͞

62510 / ͙͗͘͜͝

Correct Answer :­12610 / ͙͗͘͘͝ 

Topic:­ G3_General Reasoning
1)

Question Stimulus :­

Reasoning



If among a group of four friends, / योद चॊर ोमআख़ ॠ कॕ एक ऺमॐऻ म७,

i. D is taller than A / D, A ऺॕ लĀॊ ऻख़
ii. B is shorter than A and C / B, A और C ऺॕ छख़टॊ ऻख़
iii. C is taller than A but shorter than D / C, A ऺॕ लĀॊ परĀॏ D ऺॕ छख़टॊ ऻख़

Then, who is the tallest? / तख़ इन ऺबम७ ऺबऺॕ लĀॊ कग़न ऻॖ?

D

C

A

B

Correct Answer :­D 

2)

Question Stimulus :­

Reasoning

How many N’s are there in the given series which are followed by 3 consecutive M’s? / दॎ गयॎ
ोनĀोल्खत ঒॑ॠखलॊ म७ ोकतनॕ N ऻ॰ ोजऺकॕ बॊद लगॊतॊर तॎन M आतॕ ऻ॰?

N,M,M,M,N,M,M,N,M,N,M,M,M,N,M,N,M,M,N,M,M,N,M,M,M.

3 / ͚

8 / ͟

9 / ͠



6 / ͝

Correct Answer :­3 / ͚ 

3)

Question Stimulus :­

CANCELLED

Reasoning

Sachin started driving a car in the North direction. After travelling for 10 km he turns to his right
and drives for 5 km then again turns to his right travels for 4 km and then stops. When he resumes
driving he travels 1 km and then takes a right turn and travels for 10 km after this he again turns
right and drives for 5 km and stops. How far and in which direction is he from his starting point? /
ऺोचन नॕ एक कॊर कख़ उĀर ोदषॊ म७ चलॊनॊ षॏॺ ोकयॊ। ͗͘ ोकमॎ चलनॕ कॕ पĀॊत शऻ अपनॕ दॊयॎ ॠ ओर मॏीतॊ ऻॖ और ोफर ͜ ोकमॎ चलतॊ
ऻॖ और ोफर अपनॕ दॊयॎ ॠ ओर मॏी कर शऻ ͛ ोकमॎ यॊআॊ करतॊ ऻॖ और ोफर ॹक जॊतॊ ऻॖ। जब शऻ ोफर कॊर चलॊनॊ ঋॊरॠभ करतॊ ऻॖ शऻ ͘
ोकमॎ चलतॊ ऻॖ और दॊयॎ ॠ ओर मॏी कर ͗͘ ोकमॎ चलतॊ ऻॖ, इऺकॕ बॊद शऻ ोफर दॊयॎ ॠ ओर मॏी कर ͜ ोकमॎ चलतॊ ऻॖ और ोफर ॹक जॊतॊ
ऻॖ। शऻ अपनॕ ঋॊर्Āक ोबॠदॏ ऺॕ ोकतनॎ दॐ र और ोकऺ ोदषॊ म७ ऻॖ?

10 km East / ͗͘ ोकमॎ पॐश१

5 km North / ͜ ोकमॎ उĀर

10 km South / ͗͘ ोकमॎ दो঴ण

5 km West / ͜ ोकमॎ पोĀम

Correct Answer :­5 km West / ͜ ोकमॎ पोĀम 

4)

Question Stimulus :­



Reasoning

Introducing a boy Rajiv said, ”His mother is the wife of my father’s only son.” How is Rajiv related
to the boy? / एक लीकॕ कॊ पौरचय दॕतॕ ॽए रॊजॎश नॕ कऻॊ, “इऺकॎ मॊँ मॕरॕ ोपतॊ कॕ इकलग़तॕ पॏআ कॎ पĀॎ ऻॖ?

Brother / भॊई

Father / ोपतॊ

Cousin / चचॕरॊ भॊई

Uncle / चॊचॊ

Correct Answer :­Father / ोपतॊ 

5)

Question Stimulus :­

Reasoning

If 1st November 2016 is Tuesday then what day was 1st March 2016? / योद ͘ नशĀर ͙͗͘͝ कख़ मॠगलशॊर थॊ
तख़ ͘ मॊच१ ͙͗͘͝ कख़ कग़न ऺॊ ोदन थॊ?

Tuesday / मॠगलशॊर

Monday / ऺख़मशॊर

Wednesday / बॏधशॊर

Friday / षॏॿशॊर

Correct Answer :­Tuesday / मॠगलशॊर 



6)

Question Stimulus :­

Reasoning

In the given alphabet series, find out what will come next. / ोनĀोल्खत शण१मॊलॊ कॎ ঒॑ॠखलॊ म७ उऺ शण१ कॊ पतॊ
कर७  जख़ कॎ ॿम म७ अगलॊ ऻख़गॊ:

Z, X, U, Q, ?

J

L

P

N

Correct Answer :­L 

7)

Question Stimulus :­

Reasoning

If, / योद,

I. A~B means A is father of B. / A~B कॊ अथ१ ऻॖ ोक A, B कॊ ोपतॊ ऻॖ
II. A^B means A is brother of B. / A^B कॊ अथ१ ऻॖ ोक A, B कॊ भॊई ऻॖ
III. A*B means A is daughter of B. / A*B कॊ अथ१ ऻॖ ोक A, B कॎ पॏআॎ ऻॖ
IV. A+B means A is mother of B. / A+B कॊ अथ१ ऻॖ ोक A, B कॎ मॊँ ऻॖ

Which of the following means that R is niece of P? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ ोशकĀ यऻ अथ१ दॕतॊ ऻॖ ोक R, P कॎ
भतॎजॎ ऻॖ?



R*Q^P

R*P

Q~R+P

P^R*Q

Correct Answer :­R*Q^P 

8)

Question Stimulus :­

Reasoning

In the given number series find out how many numbers are there which are divisible by 4, then
immediately followed by an even number and then a prime number. / एक दॎ गयॎ  ॠऺূॊ ঒॑ॠखलॊ म७ उन
ॠऺূॊओॠ कॎ  ॠऺূॊ Āॊत कर७  जख़ ोक ͛ ကॊरॊ ोशभॊोजत ऻख़ जॊएँ ोफर ကौरत ॺप ऺॕ एक ऺम  ॠऺূॊ और उऺकॕ तॏरॠत बॊद एक अभॊĀ
ॠऺূॊ ကॊरॊ ोशभॊोजत ऻख़ ॠ?

2, 4, 6, 7, 8, 9, 12, 14, 11, 15, 16, 18, 19, 24, 23, 22 / ͙, ͛, ͝, ͞, ͟, ͠, ͙͘, ͛͘, ͘͘, ͘͜, ͘͝, ͘͟, ͘͠, ͙͛, ͙͚, ͙͙

3 / ͚

5 / ͜

6 / ͝

1 / ͘

Correct Answer :­3 / ͚ 

9)



Question Stimulus :­

Reasoning

If oranges are pink, strawberries are blue, blueberries are white, grapes are brown and mango is
black then, what colour is orange juice? / योद  ॠऺतरॕ गॏलॊबॎ ऻख़ ॠ, Ā३ॗबॕरॎ नॎलॎ ऻख़ ॠ, Āॐबॕरॎ ऺूॕद ऻख़ ॠ, अॠगॐर भॐरॕ ऻख़ ॠ तख़  ॠऺतरॕ
कॕ जॐऺ कॊ रॠग ভॊ ऻख़गॊ?

Blue / नॎलॊ

Black / कॊलॊ

Brown / भॐरॊ

Pink / गॏलॊबॎ

Correct Answer :­Pink / गॏलॊबॎ 

10)

Question Stimulus :­

Reasoning

If North­West becomes South and North­East becomes West. Similarly all other directions are also
changed, in which real direction will be South­East? / योद उĀर­पोĀम दो঴ण ऻख़ और उĀर­पॐश१ पोĀम ऻख़ जॊए और
इऺॎ ঋकॊर ऺॕ और ऺभॎ ोदषॊएॠ  भॎ पौरशोत१त कॎ जॊएँ, तख़ ोकऺ शॊĀोशक ोदषॊ म७ दो঴ण­पॐश१ ऻख़गॊ?

North / उĀर

West / पोĀम

South­East / दो঴ण­पॐश१



North­West / उĀर­पोĀम

Correct Answer :­West / पोĀम 

11)

Question Stimulus :­

Reasoning

Following are the statements numbered 1 and 2 which are followed by a set of conclusions labelled
I and II. Which of these conclusions are most obvious in relation to the statements given below? /
ोनĀोल्खत कथनख़ ॠ कख़ ͘ और ͙  ॠऺূॊओॠ ऺॕ ोच्Āत ोकयॊ गयॊ ऻॖ और इनऺॕ ऺĀॠोधत I और II ोच्Āत ोकयॕ गए उप ॠऺऻॊरख़ ॠ कॕ ऺमॏৡय
ोदए गए ऻ॰? ोदए गए कथनख़ ॠ कॕ  ॠऺदभ१ म७ कग़न ऺॕ उप ॠऺऻॊर ऺबऺॕ उपयॏঢ ऻ॰?

Statements: / कथन:

1. Some blades are razors. / कॏ छ Āॕड रॕजर ऻ॰।
2. All razors are axes. / ऺभॎ रॕजर कॏ Āॊोीयॊँ ऻ॰।

Conclusion: / उप ॠऺऻॊर:

I. Some axes are blades. / कॏ छ कॏ Āॊोीयॊँ Āॕड ऻ॰।

      II. Some blades are axes. / कॏ छ Āॕड कॏ Āॊोीयॊँ ऻ॰।

Only I / कॕशल I

Only II / कॕशल II

Both I and II / दख़नख़ ॠ I और II

Neither I nor II / न I तख़ न II ऻॎ

Correct Answer :­Both I and II / दख़नख़ ॠ I और II 



12)

Question Stimulus :­

Reasoning

A clock which is set right at 3:00 am gains 20 mins in 24 hours. What will be the correct time when
the clock shows 3:00 pm on the fourth day? / एक घडॎ जख़ ोक ठॎक ͚:͗͗ बजॕ  ॏऺबऻ पर ऺॕट कॎ गयॎ ऻॖ शऻ ͙͛ घॠटॕ म७
͙͗ ोमनट आगॕ बॊद जॊतॎ ऻॖ। ঋॊरॠभ कॕ ोदन ऺॕ चग़थॕ ोदन जब घीॎ ͚:͗͗ बजॕ षॊम कॊ ऺमय ोदखॊए तख़ उऺ ऺमय ऺऻॎ ऺमय ভॊ ऻख़गॊ?

4:00 pm / ͛:͗͗ बजॕ षॊम

3:00 am / ͚ बजॕ  ॏऺबऻ

1:30 pm / ͘:͚͗ बजॕ मĀॊĀ

3:30 pm / ͚:͚͗ बजॕ मĀॊĀ

Correct Answer :­1:30 pm / ͘:͚͗ बजॕ मĀॊĀ 

13)

Question Stimulus :­

Reasoning

Observe the figure below. How many dots lie opposite to the side of three dots when the paper is
folded to form a cube? /  नॎचॕ ोदए गए ोचআ कख़ दॕख७। जब ोक इऺ कॊगज कख़ मख़ीकर इऺकॊ एक घन बनॊयॊ जॊए तख़ तॎन
ोबĀदॏ ओॠ कॎ ोदषॊ कॕ ोशपरॎत ोकतनॕ ोबॠदॏ पी७गॕ?



2 / ͙

1 / ͘

6 / ͝

5 / ͜

Correct Answer :­2 / ͙ 

14)

Question Stimulus :­

CANCELLED

Reasoning

In a certain code, RAT=39 and HORSE=65, what will be TIGER? / एक कख़ड म७ RAT=39 और HORSE=65,
तख़ TIGER ভॊ ऻख़गॊ?

75 / ͜͞

86 / ͟͝



66 / ͝͝

50 / ͜0

Correct Answer :­66 / ͝͝ 

Topic:­ G3_General Science
1)

Question Stimulus :­

General Science

The study of energy transfer and relationships between all living organisms is known as: / ऺमĀ
जॎोशत ঋॊोणयख़ ॠ (जॎशख़ ॠ) कॕ मĀ ऊजॊ१ ऻĀॊॠतरण एशॠ  ॠऺबॠध कॊ अĀयन कऻलॊतॊ ऻॖ:

Thermodynamics / ऊĀॊगोतकॎ (ऊĀঋशॖोगकॎ)

Potential Energy / ्Āथोतज ऊजॊ१

Kinetic Energy / गोतज ऊजॊ१

Bioenergetics / जॖशऊजॊ१ोशĀॊन

Correct Answer :­Bioenergetics / जॖशऊजॊ१ोशĀॊन 

2)

Question Stimulus :­

General Science

The metal disc provided at one end of the common cell is the: / ऺॊधॊरण ऺॕल कॕ एक छख़र पर ोदयॊ गयॊ धॊतॏ
चोॿकॊ ऻॖ:



negative terminal / ऋणॊĀक छख़र

switch / बटन (्Āच)

positive terminal / धनॊĀक छख़र

Spring / कमॊनॎ (्Āॠग)

Correct Answer :­negative terminal / ऋणॊĀक छख़र 

3)

Question Stimulus :­

General Science

The strongest acid is: / ऺशॊ१ोधक ष्ঢषॊलॎ अĀ ऻॖ:

Trichloroacetic Acid / ट३ ॊईমख़रख़ऐऺॕोटक अĀ

Monochloroacetic Acid / मख़नख़মख़रख़ऐऺॕोटक अĀ

Acetic Acid / षॏঢॊĀ (ऐऺॕोटक अĀ)

Dichloroacetic Acid / डॊईমख़रख़ऐऺॕोटक अĀ

Correct Answer :­Trichloroacetic Acid / ट३ ॊईমख़रख़ऐऺॕोटक अĀ 

4)

Question Stimulus :­

General Science

Milk of magnesia is: / मॖ্ॎोषयॊ ঴ॎर (ोमĀ ऑू मॖ্ॎोषयॊ) ऻॖ:



antacid / अĀनॊषक

bleaching power / ोशरॠजक चॐण१ (Āॎोचॠग पॊउडर)

artificial milk / क॑ोআम दॏ৊

NaCl

Correct Answer :­antacid / अĀनॊषक 

5)

Question Stimulus :­

General Science

Toroid is: / टख़रख़इड ऻॖ:

Ring shaped closed solenoid / शलयॊकॊर बĀ पौरनॊोलकॊ (नॊलकॏॠ तल)

Rectangular shaped solenoid / आयतॊकॊर पौरनॊोलकॊ (नॊलकॏॠ तल)

Ring shaped open solenoid / शलयॊकॊर मॏঢ पौरनॊोलकॊ (नॊलकॏॠ तल)

Square shaped open solenoid / शगॊ१कॊर मॏঢ पौरनॊोलकॊ (नॊलकॏॠ तल)

Correct Answer :­Ring shaped closed solenoid / शलयॊकॊर बĀ पौरनॊोलकॊ (नॊलकॏॠ तल) 

6)

Question Stimulus :­

General Science

A transformer works on: / एक पौरशत१क (ट३ ॊॠऺफॗम१र) इऺ पर कॊय१ करतॊ ऻॖ:



Very Low Voltage only / कॕशल अोत ोनĀ शख़Āॕज

Very High Voltage Only / कॕशल अोत उৡ शख़Āॕज

AC Only / कॕशल एऺॎ

DC Only / कॕशल डॎऺॎ

Correct Answer :­AC Only / कॕशल एऺॎ 

7)

Question Stimulus :­

General Science

Single Cotyledon of Jowar is called: / Āॊर कॊ एकल बॎजपআ कऻलॊतॊ ऻॖ:

Coleorhiza / कख़ोलयख़ोऻ१िॊ

Scutellum / Āॏ टॕलम

Husk / तॏह (ोछलकॊ)

Coleoptile / कख़ोलयख़Āॊइल

Correct Answer :­Scutellum / Āॏ टॕलम 

8)

Question Stimulus :­

General Science

On the surface of the liquid in equilibrium, molecules of the liquid possess: / ऺॊĀशĀथॊ म७ ्Āथत तरल कॕ
प॑Ā (ऺतऻ) पर, तरल कॕ अणॏ धॊरण करतॕ ऻ॰:



प॑Ā (ऺतऻ) पर, तरल कॕ अणॏ धॊरण करतॕ ऻ॰:

Maximum Potential energy / अोधकतम ्Āथोतज ऊजॊ१

Minimum Potential energy / ကॐनतम ्Āथोतज ऊजॊ१

Maximum Kinetic energy / अोधकतम गोतज ऊजॊ१

Minimum Kinetic energy / ကॐनतम गोतज ऊजॊ१

Correct Answer :­Maximum Potential energy / अोधकतम ्Āथोतज ऊजॊ१ 

9)

Question Stimulus :­

General Science

Maximum energy is generated on combustion of which of the following

gas? / ोनĀोल्खत म७ ऺॕ कग़न ऺॕ गॖऺ कॕ दऻन पर अोधकतम ऊजॊ१ उĀĀ ऻख़तॎ ऻॖ?

Propane / ঋख़पॕन

Methane / मॎथॕन

Butane / Āॏटॕन

Ethane / ईथॕन

Correct Answer :­Butane / Āॏटॕन 

10)



Question Stimulus :­

General Science

The existence of electromagnetic waves was experimentally confirmed by: / इन कॕ ကॊरॊ ঋॊयख़ोगक ॺप ऺॕ
ोशद्यॏ त­चॏॠबकॎय तरॠगख़ ॠ कॊ अ्Āက  ॏऺोनोĀत ोकयॊ गयॊ थॊ:

Maxwell / मॖসशॕल

Tesla / टॕऺलॊ

Faraday / फॖरॊडॕ

Hertz / ऻज१

Correct Answer :­Hertz / ऻज१ 

11)

Question Stimulus :­

General Science

Which of the following determines the colour of the skin in human beings? / ोनĀोल्खत म७ ऺॕ ভॊ मनॏĀख़ ॠ म७
ကचॊ कॊ रॠग ोनधॊ१ौरत करतॊ ऻॖ?

Paraffin / पॖरॊोफन

Melanin / रॠजक (मॕलॊोनन)

Durum / दॏरम

Myoglobin / Āख़৕ख़ोबन



Correct Answer :­Melanin / रॠजक (मॕलॊोनन) 

12)

Question Stimulus :­

General Science

The cycle that generates energy and splits water into hydrogen and oxygen is known as: / जख़ चॿ
ऊजॊ१ उĀĀ करतॊ ऻॖ एशॠ जल कख़ ऻॊइड३ ख़जन एशॠ ऑসॎजन म७ ोशभॊोजत कर दॕतॊ ऻॖ उऺॕ कऻतॕ ऻ॰:

Electron Transport Cycle / इलॕঠ३ ॗन पौरशऻन चॿ

Citric Acid Cycle / ऺॊइोट३क अĀ चॿ

Photophosphorylation / फख़टख़फख़Āख़ौरलॕषन

Glycolysis / ৕ॊईकख़ोलोऺऺ

Correct Answer :­Photophosphorylation / फख़टख़फख़Āख़ौरलॕषन 

13)

Question Stimulus :­

General Science

The gas which turns fat and oil containing foods in rancid is: / जख़ गॖऺ शऺॊ एशॠ तॖल­यॏঢ भख़जन कख़ बॊऺॎ (दॏग४ध
यॏঢ) बनॊ दॕतॊ ऻॖ शऻ ऻॖ:

Hydrogen / ऻॊइड३ ख़जन

Oxygen / ऑসॎजन

Nitrogen / नॊइट३ ख़जन
Carbon dioxide / कॊब१न डॊइऑসॊइड



Carbon dioxide / कॊब१न डॊइऑসॊइड

Correct Answer :­Oxygen / ऑসॎजन 

14)

Question Stimulus :­

General Science

If a Magnet is cut into four equal parts such that the length and breadth of each smaller magnet is
equal, then the pole strength of each small part shall be: / योद एक चॏॠबक कख़ चॊर ऺमॊन भॊगख़ ॠ म७ इऺ ঋकॊर कॊटॊ
जॊए ोक ঋĀॕक लघॏ (঴ॏঈॊकॊर) चॏॠबक कॊ दॖ৚१ (लॠबॊई) एशॠ ঋĀथ (चग़ीॊई) एक ऺमॊन ऻख़, तख़ ঋĀॕक ঴ॏঈ भॊग कॎ উॏशॎय ঴मतॊ ऻख़गॎ:

m / m

m/2 / m/͙

m/4 / m/͛

m/8 / m/͟

Correct Answer :­m/2 / m/͙ 

Topic:­ G3_General Computer Knowledge
1)

Question Stimulus :­

Computer

Pentium is related to which of the following? / प७ोटयम ोनĀोल्खत म७ ऺॕ ोकऺ ऺॕ  ॠऺबॠोधत ऻॖ?

Hard disk / अनĀ चोॿकॊ (ऻॊड१ ोडĀ)



Microprocessor /  ॐऺ঵­ঋॿमक (मॊइॿख़ঋख़ऺॕऺर)

Mother board / मॏূ पटल (मदर बख़ड१)

Chip set / ोचप ऺमॐऻ (ोचप ऺॕट)

Correct Answer :­Microprocessor /  ॐऺ঵­ঋॿमक (मॊइॿख़ঋख़ऺॕऺर) 

2)

Question Stimulus :­

Computer

LAN means: / एलएएन (लॖन) कॊ अथ१ ऻॖ:

Local area network / Āथॊनॎय ঴ॕআ तॠআजॊल

Wide area network / ोशĀ॑त ঴ॕআ तॠআजॊल

Both of the above / उपरख़ঢ उभय

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Local area network / Āथॊनॎय ঴ॕআ तॠআजॊल 

3)

Question Stimulus :­

Computer

Daisy wheel printer is what type of a printer? / गॏलबऻॊर चॿ मॏঈक (डॕिॎ Āॎल ोঋॠटर) ोकऺ ঋकॊर कॊ मॏঈक ऻॖ?

Non impact / आघॊतऻॎन



Impact / आघॊत

Laser / लॕिर

Line printer / पॠ्ঢ मॏঈक (लॊइन ोঋॠटर)

Correct Answer :­Impact / आघॊत 

4)

Question Stimulus :­

Computer

Valid character constants are: / मॊက अ঴र अचर ऻॖ:

’\n’

’\\’

Both of the above / उपरख़ঢ उभय

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both of the above / उपरख़ঢ उभय 

5)

Question Stimulus :­

Computer

Which of the following is an example of binary codes? /  ोनĀोल्खत म७ ऺॕ कग़न ोကचर कॐ टख़ ॠ कॊ एक उदऻॊरण ऻॖ?

A00101 / A͗͗͗͘͘



00101 / ͗͗͗͘͘

02456 / ͙͗͛͜͝

A011800 / A͗͗͗͘͘͟

Correct Answer :­00101 / ͗͗͗͘͘ 

6)

Question Stimulus :­

Computer

Which among the following short keys are used to move forward by using the TAB key? / ोनĀोल्खत म७
ऺॕ कग़न ऺॕ लघॏपथ कॏॠ ोजयख़ ॠ कॊ उपयख़ग टॖब कॏॠ जॎ कॕ ऺऻॊयतॊ ऺॕ अঁऺर ऻख़नॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

Alt+Tab 

Shift+ctrl+Alt 

Ctrl+tab 

Alt+ctrl+del 

Correct Answer :­Ctrl+tab  

7)

Question Stimulus :­

Computer

Digital computer was developed in: / अॠकॎय  ॠऺगणकख़ ॠ कॊ ोशकॊऺ यऻॊँ ोकयॊ गयॊ थॊ:



India / भॊरत

China / चॎन

USA / यॐएऺए

Japan / जॊपॊन

Correct Answer :­USA / यॐएऺए 

8)

Question Stimulus :­

Computer

Which of the following is the correct format of an email address? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ ईमॕल पतॕ कॊ एक
ऺऻॎ ঋॊॺप ऻॖ?

sales@gmail.com

sales@@gmail.com

@sales gmail.com

gmail@sales .com

Correct Answer :­sales@gmail.com 

9)

Question Stimulus :­

Computer

Firewalls are: / अो্ঋॊचॎर (ूॊयरशॗल) ऻ॰:



Firewalls are: / अो্ঋॊचॎर (ूॊयरशॗल) ऻ॰:

Those that filter networks / शॕ जख़ तॠআजॊल षख़धन करतॕ ऻ॰

Follows set of the rules / ोनयमख़ ॠ कॕ एक ऺमॏৡय कॊ पॊलन करतॕ ऻ॰

Hardware or software device / यॠআॊॠष अथशॊ तĀॊॠष यॠআ (उपॊय)

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­All of the above / उपरख़ঢ ऺभॎ 

10)

Question Stimulus :­

Computer

What is the full form of FTP? / एफटॎपॎ (FTP) कॊ ोशĀ॑त ॺप ভॊ ऻॖ?

File transfer protocol / ोमोऺल Āथॊनॊॠतरण ॿमॊचॊर (फॊइल ट३ ॊॠऺफर ঋख़टख़कॗल)

File transmission protocol / ोमोऺल ঋऺॊरण ॿमॊचॊर (फॊइल ट३ ॊॠऺोमषन ঋख़टख़कॗल)

File trimming protocol / ोमोऺल छँटॊई ॿमॊचॊर (फॊइल ोट३ ोमॠग ঋख़टख़कॗल)

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­File transfer protocol / ोमोऺल Āथॊनॊॠतरण ॿमॊचॊर (फॊइल ट३ ॊॠऺफर ঋख़टख़कॗल) 

11)

Question Stimulus :­



Computer

Which of the following is a math library function? / ोनĀोल्खत म७ ऺॕ ভॊ एक गोणत ॿमॊदॕष­ ॠऺঁऻ (लॊइ঍ॕरॎ)
ঋकॊय१ ऻॖ?

Math.h

int.h 

Stdio.h 

String.h 

Correct Answer :­Math.h 

12)

Question Stimulus :­

Computer

Which among the following from the below given options is an output device? / ोनĀोल्खत अधख़­ঋदĀ
ोशकĀख़ॠ म७ ऺॕ कग़न ऺॊ एक ोनग१म यĀ ऻॖ?

Scanner / ॿमशॎ঴क

Printer / मॏঈक

Mouse / मॊउऺ

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­Printer / मॏঈक 

13)



Question Stimulus :­

Computer

An Operating system is ____________. / एक ঋचॊलन तॠআ ऻॖ ___________

an application software / एक अनॏঋयख़ग तĀॊॠष

a system software / एक पौरतॠআ तĀॊॠष

a personal software / एक က्ঢगत तĀॊॠष

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­a system software / एक पौरतॠআ तĀॊॠष 

14)

Question Stimulus :­

Computer

What is the base value of the hexa decimal numbers? / हख़डष आधॊरॎ  ॠऺূॊओॠ कॊ आधॊरभॐत मॊन ভॊ ऻॖ?

16 / ͘͝

8 / ͟

17 / ͘͞

2 / ͙

Correct Answer :­16 / ͘͝ 



Topic:­ G3_Electrical
1)

Question Stimulus :­

Electrical

___________ method are characterized by the fact that the quantity to be measured is obtained
from physical quantities of different kinds. / ___________ मॕथड इऺ तĀ ကॊरॊ  ॏऺĀĀ ऻख़तॊ ऻॖ ोक मॊपॎ जॊनॕ शॊलॎ
मॊআॊ अलग अलग ঋकॊर कॎ भग़ोतक मॊআॊओॠ ऺॕ ঋॊĀ ऻख़तॎ ऻॖ।

Analog presentation / एनॊलॗग ঋॕज७टॕषन

Compensation instrument / कĀĀॕषन इॠĀॸम७ट

Indirect measurement / इĀॊयरॕঠ मॕजरम७ट

Digital presenatation / ोडोजटल ঋॕज७टॕषन

Correct Answer :­Indirect measurement / इĀॊयरॕঠ मॕजरम७ट 

2)

Question Stimulus :­

Electrical

Find the luminous output of lamp if the wattage of the filament lamp 550 W and the efficiency of
lamp is 2 candle power per W. / योद ोकऺॎ ोफलॊम७ट ल॰प कॊ शॗटॕज 550 W ऻख़ और ल॰प कॎ एोफोषएॠ ऺॎ ঋोत W 2 क॰ डल
पॊशर  0.5 W ऻख़ तख़ उऺ ल॰प कॊ Āॐोमनऺ आउटपॏट Āॊत कर७।

4100 

4200 



4300 

4400 

Correct Answer :­4400   

3)

Question Stimulus :­

Electrical

Which types of methods only work with planer circuits? / ोकऺ ঋकॊर कॕ मॕथड्ऺ कॕशल ကॊनर ऺोक१ ट कॕ ऺॊथ कॊम
करतॕ ऻ॰?

Source transformation / ऺख़ १ऺ ट३ ॊॠऺफॗम८षन

Superposition method /  ॏऺपरपख़जॎषन मॕथड

Node voltage method / नख़ड शख़Āॕज मॕथड

Mesh current method / मॕष कर७ट मॕथड

Correct Answer :­Mesh current method / मॕष कर७ट मॕथड 

4)

Question Stimulus :­

Electrical

Given unit AT/m defines which term of magnetic circuit / दॎ गयॎ यॐोनट मॖ্ॕोटक ऺोक१ ट कॎ ोकऺ षĀॊशलॎ कख़
पौरभॊोहत करतॎ ऻॖ?

Magnetic flux density (B) / मॖ্ॕोटक Āস डॕ्Āटॎ (बॎ)
Mangnetic field strength (H) / मॖ্ॕोटक फॎĀ Ā३ॕĀ (एच)



Mangnetic field strength (H) / मॖ্ॕोटक फॎĀ Ā३ॕĀ (एच)

Magentic flux (Φ) / मॖ্ॕोटक Āস (Φ)

Magneto motive force (MMF) / मॖ্ॕटख़ मख़ोटश फख़ १ऺ (एमएमएफ)

Correct Answer :­Mangnetic field strength (H) / मॖ্ॕोटक फॎĀ Ā३ॕĀ (एच) 

5)

Question Stimulus :­

Electrical

What is the unit of flux density? / Āস डॕोनोऺटॎ कॎ इकॊइ१ ভॊ ऻॖ?

Weber / शॕबर

Ampere / एĀॎयर

Tesla / टॕကॊ

Hertz / ऻि१

Correct Answer :­Tesla / टॕကॊ 

6)

Question Stimulus :­

Electrical

In which constant voltage system following operations are performed:

1.Measure the system current



2.Compare it with a reference current

3.Computes and amplifies the error signal / ोकऺ कॗĀ॰ट शख़Āॕज ोऺĀम म७, ोनĀोल्खत ऑपरॕषĀ ऻख़तॕ ऻ॰:

ोऺĀम कर७ट कॊ मॊपन
ोकऺॎ रॕफर७ऺ कर७ट ऺॕ उऺकॎ तॏलनॊ
एरर ोऺ্ल कख़ कĀĀॐट और एĀကॎफॊइ१ करनॊ

Constant extinction angle  control / कॗĀ॰ट एসोटॠলन एॠ गल  कॠ ट३ ख़ल

Constant voltage control /कॗĀ॰ट शख़Āॕज कॠ ट३ ख़ल

Constant lignition angle  control / कॗĀ॰ट ोल্ॎषन एॠ गल   कॠ ट३ ख़ल

Constant current control / कॗĀ॰ट कर७ट कॠ ट३ ख़ल

Correct Answer :­Constant current control / कॗĀ॰ट कर७ट कॠ ट३ ख़ल 

7)

Question Stimulus :­

Electrical

What is the MKS rationalized unit of magnetic pole strength quantity? / मॖ্ॕोटक पख़ल Ā३७थ कशॊ्ကटॎ कॊ
MKS रॕĀॊलॊइĀ यॐोनट कयॊ ऻॖ?

Volt/Metre / शख़Ā/मॎटर

Henry/Metre / ऻॕनरॎ/मॎटर

Joule/Coulomb / जॐल/कख़लॠब

Weber / शॕबर



Correct Answer :­Weber / शॕबर 

8)

Question Stimulus :­

Electrical

Which law states that the direction of the induced emf is such as to tend to oppose the change in
the inducing flux? / कग़न ऺॊ ोनयम कऻतॊ ऻॖ ोक ঋॕौरत इ१एमएफ कॎ ोदषॊ ऐऺॎ ऻख़तॎ ऻॖ जख़ इĀĀॐो ॠऺग Āস म७ पौरशत१न कॕ
ोशॺĀ ऻख़तॎ रऻतॎ ऻॖ?

Lenzs Law / लॕĀज लॗ

Coulombs Law / कख़लॠĀ लॗ

Steinmetz Hysteresis Law / ĀॕĀॕट्ज ोऻĀॕरॕोऺऺ लॗ

Stefan Boltzmann Law / Āॎफॕन बख़ကमॕन लॗ

Correct Answer :­Lenzs Law / लॕĀज लॗ 

9)

Question Stimulus :­

Electrical

The process of adding impurities to a semiconductor is known as_______ / ोकऺॎ ऺॕमॎ कॠ डঠर म७
इॠĀॐौरटॎज कख़ बुॊनॕ कॎ ঋोॿयॊ कख़_______ कॕ ॺप म७ जॊनॊ जॊतॊ ऻॖ।

Donar impurities / डख़नर इॠĀॐौरटॎज

Doping / डख़ोपॠग



Hole / ऻख़ल

Control element / कॠ ट३ ख़ल एलॎम७ट

Correct Answer :­Doping / डख़ोपॠग 

10)

Question Stimulus :­

Electrical

In which type of compound generator the terminal voltage rises with application of load so that its
full load voltage exceeds its no load voltage: / ोकऺ तरऻ कॕ कĀॊउॠड जॕनरॕटर म७, लख़ड कॕ इĀॕमॊल कॕ कॊरण टोम१नल
शख़Āॕज बुतॊ ऻॖ तॊोक उऺकॊ फॏ ल लख़ड शख़Āॕज नख़ लख़ड शख़Āॕज ऺॕ बु जॊय:

Flat Compound Generator / Āॖट कĀॊउॠड जॕनॕरॕटर

Under Compound Generator / अॠडर कĀॊउॠड जॕनॕरॕटर

Series Compound Generator / ऺॎरॎज कĀॊउॠड जॕनॕरॕटर

Over Compound Generator / ओशर कĀॊउॠड जॕनॕरॕटर

Correct Answer :­Over Compound Generator / ओशर कĀॊउॠड जॕनॕरॕटर 

11)

Question Stimulus :­

Electrical

 Which type of transformer is used to conduct assessment at high and ultra­high voltages? / उৡ और
अĀ३ ॊ उৡ शख़Āॕज पर आकलन करनॕ कॕ ोलए ोकऺ तरऻ कॕ ट३ ॊॠऺफॗम१र कॊ इĀॕमॊल ोकयॊ जॊतॊ ऻॖ?

Power transformer / पॊशर ट३ ॊॠऺफॗम१र



Power transformer / पॊशर ट३ ॊॠऺफॗम१र

Testing transformer / टॕ ्Āॠग ट३ ॊॠऺफॗम१र

Radio transformer / रॕोडयख़ ट३ ॊॠऺफॗम१र

Auto transformer / ऑटख़ ट३ ॊॠऺफॗम१र

Correct Answer :­Testing transformer / टॕ ्Āॠग ट३ ॊॠऺफॗम१र 

12)

Question Stimulus :­

Electrical

Fly wheel is mounted on the motor shaft in _______motor. / ______मख़टर म७ मख़टर षॊĀ पर Āॊई Āॎल कख़
मॊउॠट ोकयॊ जॊतॊऻॖ।

Compound / कĀउॠड

Simple / ोऺĀल

Variable / शॖौरएबल

Complex / कॗĀကॕস

Correct Answer :­Compound / कĀउॠड 

13)

Question Stimulus :­

Electrical

What is the relative permittivity of slate dielectric? / ကॕट डॊइ१­इलॕ्ঠ३क कॎ ौरलॕोटश परोमटॎोशटॎ ोकतनॎ ऻख़तॎ ऻॖ?



What is the relative permittivity of slate dielectric? / ကॕट डॊइ१­इलॕ्ঠ३क कॎ ौरलॕोटश परोमटॎोशटॎ ोकतनॎ ऻख़तॎ ऻॖ?

6­7.5

4.1­6.5

2­2.5

5.5­6.5

Correct Answer :­6­7.5 

14)

Question Stimulus :­

Electrical

What is the resolution of 4­digit digital measuring instrument? / 4 ोडोजट ोडोजटल मॊपन उपकरण कॊ
ौरजख़Āॐषन ोकतनॊ ऻख़तॊ ऻॖ?

0.002%

0.005%

0.1%

0.01%

Correct Answer :­0.01% 

15)

Question Stimulus :­



Electrical

Which type of torque in synchronous motor is also called as break away torques? / ो ॠऺॿख़नऺ मख़टर म७,
ोकऺ तरऻ कॕ टॗक१  कख़ ঍ॕक अशॕ टॗक१  भॎ कऻॊ जॊतॊ ऻॖ?

Starting torque / Āॊ ोट४ग टॗक१

Running torque / रोनॠग टॗक१

Pull torque / पॏल टॗक१

Pull­out torque / पॏल­आउट टॊक१

Correct Answer :­Starting torque / Āॊ ोट४ग टॗक१  

16)

Question Stimulus :­

Electrical

The total number of lines of force emanating from certain charge is called as? / ोनोĀत चॊज१ ऺॕ ोनकलनॕ
शॊलॕ बल कॎ रॕखॊओॠ कॎ कॏ ल  ॠऺূॊ कख़ कऻॊ जॊतॊ ऻॖ

Electric Intensity / ोशद्यॏ त गॠभॎरतॊ

Electric field strength / ोशद्यॏ त ঴ॕআ कॎ ष्ঢ

Electric lines of forces / बल कॎ ोशद्यॏ त रॕखॊ

Electric Flux / ोशद्यॏ त Āস

Correct Answer :­Electric Flux / ोशद्यॏ त Āস 



17)

Question Stimulus :­

Electrical

Find the stator winding voltage of a three phase star connected 5500 V synchronous motor having
synchronous reactance per phase of 20Ω. / 5500 V कॕ ो ॠऺॿख़नऺ मख़टर ऺॕ जॏीॕ ইॎ फॕज Āॊर कॊ Āॕटर शॊइॠोडॠग शख़Āॕज
Āॊत कर७  ोजऺम७ ঋोत फॕज 20Ω कॊ ो ॠऺॿख़नऺ ौरएঠ७ऺ ऻख़।

3175.4 V

5500 V

9526 V

3180 V

Correct Answer :­3175.4 V 

18)

Question Stimulus :­

Electrical

The time taken by an alternating voltage or current to complete one cycle is called as: / अĀरनॕोटॠग
अथशॊ कर७ट ကॊरॊ एक चॿ पॐरॊ करनॕ म७ लगनॕ शॊलॕ ऺमय कख़ कऻॊ जॊतॊ ऻॖ

Periodic time / पॎौरयॗोडक टॊइम

Angular Velocity / एॠ गॏलर शॕलख़ोऺटॎ

Amplitude / एĀကॎĀॐड



Frequency / ঌॎর७ ऺॎ

Correct Answer :­Periodic time / पॎौरयॗोडक टॊइम 

19)

Question Stimulus :­

Electrical

In hydro power station which components is used to step up the generating voltage to a suitable
transmission voltage? / ऻॊइड३ ख़ पॊशर Āॕषन म७, एक अनॏकॐ ल ट३ ॊॠऺोमषन शख़Āॕज ऻॕतॏ जॕनरॕोटॠग शख़Āॕज कख़ बढॊनॕ म७ ोकऺकॊ
इĀॕमॊल ोकयॊ जॊतॊ ऻॖ?

Transformer / ट३ ॊॠऺफॗम१र

Genrator / जॕनरॕटर

Transmission line /ट३ ॊॠऺोमषन लॊइन

Turbine / टबॊ१इन

Correct Answer :­Transformer / ट३ ॊॠऺफॗम१र 

20)

Question Stimulus :­

Electrical

Which components of the symmetrical system have three phasors with equal magnitude but are
displaced from each other by 120 degree having reverse phase sequence as compared to that of
original? / ोऺĀॕोट३कल ोऺĀम कॕ ोकऺ पॏज८ म७ ऺमॊन मॖ্ॎĀॐड शॊलॕ फॕज १ऺ ऻख़तॕ ऻ॰ लॕोकन शॕ ौरश १ऺ फॕज ऺॎর७ ऺ ऻख़नॕ कॕ कॊरण
शॊĀोशक कॕ मॏकॊबलॕ 120 ोडঁॎ पर एक दॐ ऺरॕ ऺॕ ोशĀथॊोपत ऻख़तॕ ऻ॰?



Positive sequence components / पॗजॎोटश ऺॎরॕĀ कĀख़न७ट्ऺ

Negative sequence components / ोनगॕोटश ऺॎরॕĀ कĀख़न७ट्ऺ

Zero sequence components / जॎरख़ ऺॎরॕĀ कĀख़न७ट्ऺ

Unity sequence components / यॐोनटॎ ऺॎরॕĀ कĀख़न७ट्ऺ

Correct Answer :­Negative sequence components / ोनगॕोटश ऺॎরॕĀ कĀख़न७ट्ऺ 

21)

Question Stimulus :­

Electrical

Which method is used as an advanced iterative method for generating  appropriate solution steps
to a real solution of a given nonlinear equation? / ोकऺॎ ोदए गए नॗनलॎोनयर ऺमॎकरण कॕ ौरयल ऺॗĀॐषन म७ उोचत
ऺॗĀॐषन ĀॕĀ बनॊनॕ कॕ ोलए, ोकऺ मॕथड कॊ इĀॕमॊल एडशॊॠĀड इॠटरॕोटश मॕथड कॕ ॺप म७ ोकयॊ जॊतॊ ऻॖ?

Newton Raphson method / ကॐटन रॖफऺन मॕथड

Gauss­Seidal method / गॗऺ ऺॎडल मॕथड

Fast Decoupled load flow method / फॊĀ ोडकपĀ लख़ड Āख़ मॕथड

Bus admittance matrix / बऺ एडोमटॕĀ मॕोट३স

Correct Answer :­Newton Raphson method / ကॐटन रॖफऺन मॕथड 

22)

Question Stimulus :­



Electrical

In which type of instrument the moving coil consists of a single loop of fine bronze or platinum
silver wire? / ोकऺ तरऻ कॕ उपकरण म७, मॐोशॠग রॗयल म७ मऻॎन पॎतल कॊ एक ो ॠऺगल लॐप अथशॊ ကॕोटनम ोऺĀर तॊर षॊोमल ऻख़तॊ
ऻॖ?

Schering and Schmidt galvanometer / ोषौरॠग और ्Āथ गॖĀॕनख़मॎटर

dArsonval galvanometer / डॊ १ऺनशॗल गॖĀॕनख़मॎटर

Campbell galvanometer / कॖĀबॕल गॖĀॕनख़मॎटर

Duddell moving coil galvanometer / Āॐडॕल मॐोशॠग রॗयल गॖĀॕनख़मॎटर

Correct Answer :­Duddell moving coil galvanometer / Āॐडॕल मॐोशॠग রॗयल गॖĀॕनख़मॎटर 

23)

Question Stimulus :­

Electrical

Find the magnetic field strength if a coil of 180 turns is wound uniformly over a wooden ring having
a mean circumference of 0.5 m and with current of 4A through the coil / मॖ্ॕोटक फॎĀ Ā३७थ Āॊत कर७  योद
ोकऺॎ 180 टन१ शॊलॕ রॗयल कख़ एक लकीॎ कॕ ौरॠग पर ऺमॊन ॺप ऺॕ लपॕटॊ गयॊ ऻख़ ोजऺकॊ मॎन ऺरकĀঌ७ ऺ 0.5 m ऻख़ और রॗयल ऺॕ
ऻख़कर 4A कॊ कर७ट ঋशॊोऻत ऻख़ रऻॊ ऻख़।

1410 AT/m

1420 AT/m

1430 AT/m

1440 AT/m



Correct Answer :­1440 AT/m 

24)

Question Stimulus :­

Electrical

Which of the following provide deflecting force for voltmeters only? / ोनĀोल्खत म७ ऺॕ कग़न कॕशल शख़Āमॎट १ऺ
कॕ ोलए ोशचलन बल ঋदॊन करतॊ ऻॖ?

Electromagnetic effect / इलॕঠ३ ख़मॖ্ॕोटक ঋभॊश

Electrodynamic effect / इलॕঠ३ ख़डॊयनॕोमक ঋभॊश

Magentic effect / मॖ্ॕोटक ঋभॊश

Electrostatic effect / इलॕঠ३ ख़Āॖोटक ঋभॊश

Correct Answer :­Electrostatic effect / इलॕঠ३ ख़Āॖोटक ঋभॊश 

25)

Question Stimulus :­

Electrical

Which electrodes used in arc furnaces are obtained by heating at very high temperature? / आक१
फन८ऺॕज म७ ঋयॏঢ ऻख़नॕ शॊलॕ ोकन इलॕঠ३ ख़ड्ऺ कख़ अĀोधक तॊपमॊन पर गम१ करकॕ ঋॊĀ ोकयॊ जॊतॊ ऻॖ?

Carbon electrodes / कॊब१न इलॕঠ३ ख़ड्ऺ

Self baking electrodes / ऺॕĀ बॕोकॠ ग इलॕঠ३ ख़ड्ऺ

Graphite electrodes / ঁॕफॊइट इलॕঠ३ ख़ड्ऺ



Electo chemical electrodes / इलॕঠख़ कॕोमकल इलॕঠ३ ख़ड्ऺ

Correct Answer :­Graphite electrodes / ঁॕफॊइट इलॕঠ३ ख़ड्ऺ 

26)

Question Stimulus :­

Electrical

High starting torque can be obtained in / इनम७ ऺॕ ोकऺम७ ऻॊई Āॊोट४ग टॗक१  ोमल ऺकतॊ ऻॖ

slip ring Induction motor / ्ကप ौरॠग इĀলन मख़टर

squirrel cage Induction motor / ्ကरल कॕज इĀলन मख़टर

salient pole Alternator / ऺॖोलएॠ ट पख़ल अĀरनॕटर

non Salient pole Alternator / नॗन­ऺॖोलएॠ ट पख़ल अĀरनॕटर

Correct Answer :­squirrel cage Induction motor / ्ကरल कॕज इĀলन मख़टर 

27)

Question Stimulus :­

Electrical

If the type of excitation of synchronous motors is critical excitation then what will be the nature of
power factors? / योद ो ॠऺॿख़नऺ मख़टर कॊ एসॊइटॕषन ोॿोटकल एসॊइटॕषन ऻख़ तख़ पॊशर फॖঠर कॎ ঋक॑ोत ভॊ ऻख़गॎ?

Lagging / लॖोगॠग

Unity power factor / यॐोनटॎ पॊशर फॖঠर

Lagging power factor / लॖोगॠग पॊशर फॖঠर



Lagging power factor / लॖोगॠग पॊशर फॖঠर

Leading power factor / लॎोडॠग पॊशर फॖঠर

Correct Answer :­Unity power factor / यॐोनटॎ पॊशर फॖঠर 

28)

Question Stimulus :­

Electrical

In which type of water heater the heat rays from an element brought up to red heat by the passage
of electric current travel through air rapidly and raise the temperature of solid substance in the
surroundings which falls in its range. / ोकऺ तरऻ कॕ शॊटर ऻॎटर म७, ोकऺॎ एलॎम७ट ऺॕ ोनकलनॕ शॊलॎ ऊĀॊ ोकरणख़ ॠ कख़
ऻशॊ कॕ मॊĀम ऺॕ गॏजरनॕ पर इलॕ्ঠ३क कर७ट पॖऺॕज ကॊरॊ लॊल ऊĀॊ बनॊ ोदयॊ जॊतॊ ऻॖ और उनकॕ आऺपॊऺ रऻनॕ शॊलॕ ठख़ऺ पदॊथॵ कॊ
तॊपमॊन बुॊ ोदयॊ जॊतॊ ऻॖ।

Three heat switch / ইॎ ऻॎट ्Āच

Electric iron / इलॕ्ঠ३क आयरन

Electric oven heating / इलॕ्ঠ३क ओशन ऻॎोटॠग

Electric radiator / इलॕ्ঠ३क रॕोडएटर

Correct Answer :­Electric radiator / इलॕ्ঠ३क रॕोडएटर 

29)

Question Stimulus :­

Electrical

Which network analysis states that the algebraic sum of voltage on a closed loop is zero? / कग़न­ऺॊ
नॕटशक१  एनॊोलोऺऺ बतॊतॊ ऻॖ ोक एक মख़Ā लॐप पर ्Āथत शख़Āॕज कॊ अကॕो঍क यख़ग षॐက ऻख़तॊ ऻॖ?



नॕटशक१  एनॊोलोऺऺ बतॊतॊ ऻॖ ोक एक মख़Ā लॐप पर ्Āथत शख़Āॕज कॊ अကॕो঍क यख़ग षॐက ऻख़तॊ ऻॖ?

Cramers method / ॿॖम १ऺ मॕथड

Nodal method of analysis / एनॊोलोऺऺ कॊ नख़डल मॕथड

Loop current method of analysis / एनॊोलोऺऺ कॊ लॐप कर७ट मॕथड

Current sources in loop current method of analysis / एनॊोलोऺऺ कॊ लॐप कर७ट म७ कर७ट ऺख़ १ऺ
मॕथड

Correct Answer :­Loop current method of analysis / एनॊोलोऺऺ कॊ लॐप कर७ट मॕथड 

30)

Question Stimulus :­

Electrical

In which type of zero sequence model, the path is completed through neutral points to the ground:
/ ोकऺ ঋकॊर कॕ जॎरख़ ऺॎর७ ऺ मॗडल म७, पॊथ ကॐट३ल Āॗइॠट्ऺ ऺॕ ऻख़कर जमॎन तक पॊथ पॐरॊ ऻख़तॊ ऻॖ?

­  connection /  ­  कनॕলन 

 

Grounded Y to   or   to grounded Y / ঁॊउॠडॕड Y ऺॕ   अथशॊ   ऺॕ ঁॊउॠडॕड Y

Ungrounded Y to   or   to ungrounded Y / अॠडरঁॊउॠडॕड Y ऺॕ  अथशॊ   ऺॕ अॠडरঁॊउॠडॕड Y

Grounded Y to grounded Y / ঁॊउॠडॕड Y ऺॕ ঁॊउॠडॕड Y

Correct Answer :­Grounded Y to grounded Y / ঁॊउॠडॕड Y ऺॕ ঁॊउॠडॕड Y 



31)

Question Stimulus :­

Electrical

A_____________is a reverse biased silicon or germanium pn junction in which reverse current
increase when the junction is exposed to light. / _________ एक ौरश १ऺ बॊयĀड ोऺोलकॗन अथशॊ जम८ोनयम pn
जॠলन ऻख़तॊ ऻॖ ोजऺम७ ौरश १ऺ कर७ट तब बुतॊ ऻॖ जब जॠলन कख़ ঋकॊष म७ रखॊ जॊतॊ ऻॖ।

Tunnel diode / टनल डॊयख़ड

Varactor diode / शॖरॕঠर डॊयख़ड

Shockley diode / षॗकलॕ डॊयख़ड

Photo diode /फख़टख़ डॊयख़ड

Correct Answer :­Photo diode /फख़टख़ डॊयख़ड 

32)

Question Stimulus :­

Electrical

Why is a starter is necessary to start a dc motor? / ोकऺॎ DC मख़टर कख़ चॊलॐ करनॕ कॕ ोलए एक मख़टर कॎ जॺरत
ভख़ॠ ऻख़तॎ ऻॖ? 

it starts the motor / शऻ मख़टर कख़ चॊलॐ करतॊ ऻॖ

Limitation in the speed of the motor / मख़टर कॎ Āॎड म७ ऺॎमॊएॠ  

Limitation in the back e.m.f. to a safe value / बॖक ईएमएफ कॎ ऺॕफ शॖĀॐ म७ ऺॎमॊएॠ  

it limits the starting current to a safe value / शऻ Āॊोट४ग कर७ट कख़ ऺॕफ शॖĀॐ तक ऺॎोमत करतॊ ऻॖ



it limits the starting current to a safe value / शऻ Āॊोट४ग कर७ट कख़ ऺॕफ शॖĀॐ तक ऺॎोमत करतॊ ऻॖ

Correct Answer :­it limits the starting current to a safe value / शऻ Āॊोट४ग कर७ट कख़ ऺॕफ शॖĀॐ तक ऺॎोमत करतॊ
ऻॖ 

33)

Question Stimulus :­

Electrical

What is thermal conductivity of silver material? / ोऺĀर मटॕौरयल कॎ थम१ल कĀ्ঠोशटॎ ोकतनॎ ऻख़तॎ ऻॖ?

429 W/mK

385 k W/mK

225 k W/mK

1.20 k W/mK

Correct Answer :­429 W/mK 

34)

Question Stimulus :­

Electrical

In electrical energy which type of tariff is also called as Doherty rate? / ोशद्यॏ त ऊजॊ१ म७ ोकऺ ঋकॊर कॕ टॖौरफ
कख़ डख़ऻट५ रॕट भॎ कऻॊ जॊतॊ ऻॖ?

Block rate tariff / Āॗक रॕट टॖौरफ

Flat rate tariff / Āॖट रॕट टॖौरफ

Two part tariff / टॐ  पॊट१ टॖौरफ



Two part tariff / टॐ  पॊट१ टॖौरफ

Three part tariff / ইॎ पॊट१ टॖौरफ

Correct Answer :­Three part tariff / ইॎ पॊट१ टॖौरफ 

35)

Question Stimulus :­

Electrical

A dynamometer wattmeter is rated at 10A and 100V with a full scale reading of 1000 W. The
inductance of the voltage circuit is 5mH and its resistance 3000 ohm. Voltage across the current
coil is negligible. At 50 Hz and zero power factors, the error in the wattmeter at the VA reading will
be: / 1000 W कॕ फॏ ल Āॕल रॎोडॠग कॕ ऺॊथ ोकऺॎ डॊयनॕमख़मॎटर शॗटमॎटर कख़ 10A और 100V पर रॕट ोकयॊ जॊतॊ ऻॖ। शख़Āॕज
ऺोक१ ट कॊ इĀঠ७ऺ 5mH ऻॖ और उऺकॊ रॕोजĀ७ऺ 3000 ओĀ ऻॖ। कर७ट রॗयल म७ शख़Āॕज नगĀ ऻॖ। 50 Hz और जॎरख़ पॊशर फॖঠर
पर शॗटमॎटर म७ ऻख़नॕ शॊलॊ दख़ह ऻख़गॊॡ

0.325 W

0.523 VA

0.575 VA

0.604 W



Correct Answer :­0.523 VA 

36)

Question Stimulus :­

Electrical

A conductor has a constant current of 6A, how many electrons pass a fixed point on the conductor
in two minute. / ोकऺॎ कॠ डঠर म७ 6A कॊ कॗĀ७ट कर७ट ऻख़, तख़ दख़ ोमनट म७ उऺ कॠ डঠर पर एक ोनोĀत ोबॠदॏ पर ोकतनॕ इलॕঠ३ ॗन
गॏजरतॕ ऻ॰?

4.49×1021 electrons/min / 4.49×1021 इलॕঠ३ ॗĀ/ोमनट

5.49×1021 electrons/min / 5.49×1021 इलॕঠ३ ॗĀ/ोमनट

6.49×1021 electrons/min / 6.49×1021 इलॕঠ३ ॗĀ/ोमनट

7.49×1021 electrons/min / 7.49×1021 इलॕঠ३ ॗĀ/ोमनट

Correct Answer :­4.49×1021 electrons/min / 4.49×1021 इलॕঠ३ ॗĀ/ोमनट 

37)

Question Stimulus :­

Electrical

What is the value of current at t = 5T instant in an RC network fed with voltage V where T is time
constant? / आरऺॎ नॕटशक१  म७ t = 5T इॠĀ॰ट्ऺ पर कर७ट कॊ मॊन ভॊ ऻख़तॊ ऻॖ ोजऺम७ V शख़Āॕज ोदयॊ जॊय और T कॗĀट७ट टॊइम
ऻख़।

0.9933 V/R



0.865 V/R

0.632 V/R

0. 579 V/R

Correct Answer :­0.9933 V/R 

38)

Question Stimulus :­

Electrical

Which method is especially suitable for the measurement of small inductances? / Āॗल इĀঠ७ऺॕज कख़
मॊपनॕ कॕ ोलए कग़न­ऺॊ मॕथड खॊऺ तग़र ऺॕ अनॏकॐ ल ऻख़तॊ ऻॖ?

Kuriyama method / कॐ ौरयॊमॊ मॕथड

Butterworths method / बटरशĀ १ऺ मॕथड

Felicis method / फॕोलोऺऺ मॕथड

Campbells method / कॖĀबॕल मॕथड

Correct Answer :­Butterworths method / बटरशĀ १ऺ मॕथड 

39)

Question Stimulus :­

Electrical

How the line current is expressed in secondary side of a delta star type of connection? / डॕĀॊ Āॊर
टॊइप कनॕলन कॕ ऺॕक७ डरॎ ऺॊइड म७, लॊइन कर७ट कख़ ोकऺ तरऻ ऺॕ अोभကঢ ोकयॊ जॊतॊ ऻॖ?



a IL/

a IL

a IL

IL/a

Correct Answer :­a IL/  

40)

Question Stimulus :­

Electrical

Calculate the resistance of wire / तॊर कॕ रॕोजĀ७ऺ कॎ गणनॊ कर७।

Given data: l Length = 150 m / ঋदĀ डॕटॊ: l लॠबॊई= 150 m

Cross sectional area = 0.2 mm2 / ॿॗऺ ऺॕলनल एौरयॊ= 0.2 mm2

Resistivity = 50×10­8 Ω­m / रॕोज्Āोशटॎ=50×10­8 Ω­m

375Ω

376Ω

377Ω

378Ω

Correct Answer :­375Ω 



41)

Question Stimulus :­

Electrical

What is the temperature coefficient in percentage per °C of nichrome material? / नॊइॿख़म मटॕौरयल कॊ
ঋोत °C टॕĀरॕचर कख़एोफोषएॠ ट ঋोतषत म७ ोकतनॊ ऻख़तॊ ऻॖ?

0.04

0.36

0.4

0.03

Correct Answer :­0.04 

42)

Question Stimulus :­

Electrical

The efficiency of electrical machines should be calculated by measuring: / ोकऺकॕ मॊपन ကॊरॊ इलॕ्ঠ३कल
मषॎनख़ ॠ कॎ एोफषएॠ ऺॎ कॎ गणनॊ कॎ जॊनॎ चॊोऻएॡ

output and input / आउटपॏट और इĀॏट

losses and output / लॗऺॕज और आउटपॏट

losses and input / लॗऺॕज और इĀॏट

losses / लॗऺॕज



Correct Answer :­losses / लॗऺॕज 

43)

Question Stimulus :­

Electrical

What is the resistivity of copper substance? / कॗपर पदॊथ१ कॎ रॕोज्Āोशटॎ ोकतनॎ ऻख़तॎ ऻॖ?

1.7×10­8 Ωm / 1.7×10­8 Ωm

0.6 Ωm / 0.6 Ωm

9×1011 Ωm / 9×1011 Ωm

10­4 Ωm / 10­4 Ωm

Correct Answer :­1.7×10­8 Ωm / 1.7×10­8 Ωm 

44)

Question Stimulus :­

Electrical

Find the illumination on the normal surface if the candle power of a lamp is 150 and a place surface
is placed at a distance of 1.5 meters from this lamp. / ऺॊमॊက तल पर इĀॐोमनॕषन Āॊत कर७  योद ोकऺॎ ल॰प कॊ
क॰ डल पॊशर 150 ऻख़ और उऺ ल॰प ऺॕ ोकऺॎ Āथॊन कॕ तल कख़ 1.5 मॎटर कॎ दॐ रॎ पर रखॊ जॊय। 

66.6 lux

66.7 lux

66.8 lux



66.9 lux

Correct Answer :­66.6 lux 

45)

Question Stimulus :­

Electrical

What is the voltage rating of extra high tension underground cable? / अॠडरঁॊउॠड कॕबल कॕ एহ३ ॊ ऻॊइ१ ट७षन
कॊ शख़Āॕज रॕोटॠग ভॊ ऻख़तॊ ऻॖ?

33 KV to 66 KV

22 KV to 33 KV

11 KV

132 KV

Correct Answer :­33 KV to 66 KV 

46)

Question Stimulus :­

Electrical

In a welding transformer, which type of reactor has greater reactance, it is obtained due to greater
core insertion and hence the output current is less? / ोकऺॎ शॕ ्Āॠग ट३ ॊॠऺफॗम१र म७, ोकऺ तरऻ कॕ ौरएঠर म७ अोधक
रॕोजĀ७ऺ ऻख़तॊ ऻॖ, यऻ अोधक कख़र इĀ १ऺन कॕ कॊरण ঋॊĀ ऻख़तॊ ऻॖ और इऺॎोलए आउटपॏट कर७ट कम ऻख़तॊ ऻॖ?

Continuously variable reactor / कॗ्ကကॏअऺलॎ शॖौरयॕबल ौरएঠर

Saturable reactor / ऺॖचॏरॕबल ौरयॕঠर



Saturable reactor / ऺॖचॏरॕबल ौरयॕঠर

Moving shunt reactor / मॐोशॠग षက ौरयॕঠर

Moving coil reactor / मॐोशॠग রॗयल ौरयॕঠर

Correct Answer :­Continuously variable reactor / कॗ्ကကॏअऺलॎ शॖौरयॕबल ौरएঠर 

47)

Question Stimulus :­

Electrical

Which type of potentiometer consists of two separate potentiometer circuits enclosed in a common
case? / ोकऺ तरऻ कॕ पख़ट७ोषयख़मॎटर म७, दख़ अलग अलग पख़ट७ोषयख़मॎटर ऺोक१ ट ऻख़तॕ ऻ॰ जख़ एक कॗमन कॕऺ ऺॕ जॏीॕ रऻतॕ ऻ॰?

Gall Tinsley AC potentiometer / गॗल ोटĀကॕ एऺॎ पख़ट७ोषयख़मॎटर

Drysdale Tinsley AC potentiometer / ड३ ॊइĀडॕल ोटĀကॕ एऺॎ पख़ट७ोषयख़मॎटर

Campbell Larsen potentiometer / कॖĀबॕल लॊ ८ऺन पख़ट७ोषयख़मॎटर

Crompton potentiometer / ॿॗĀटन पख़ट७ोषयख़मॎटर

Correct Answer :­Gall Tinsley AC potentiometer / गॗल ोटĀကॕ एऺॎ पख़ट७ोषयख़मॎटर 

48)

Question Stimulus :­

Electrical

In the energy level diagram, what is the separation between conduction band and valence band?
/ एनज५ लॕशल डॊयঁॊम म७, कॠ डলन ब॰ड और शॕलॕĀ ब॰ड कॕ बॎच कॊ अलगॊश ভॊ ऻख़तॊ ऻॖ?

Forbidden energy gap / फॗरोबडॕन एनज५ गॖप



Forbidden energy gap / फॗरोबडॕन एनज५ गॖप

Conduction band / कॠ डলन ब॰ड

Valance band / शॕल७ऺ ब॰ड

Energy band / एनज५ ब॰ड

Correct Answer :­Forbidden energy gap / फॗरोबडॕन एनज५ गॖप 

49)

Question Stimulus :­

Electrical

Which of the following is the SI symbol given by SI system for thermodynamic temperature? / SI
ঋणॊलॎ ကॊरॊ ोदयॊ गयॊ थमॳडॊयनॕोमक टॕĀरॕचर कॕ ोलए SI ोचĀ ोनĀोल्खत म७ ऺॕ कग़न ऻॖ?

m

K

s

A

Correct Answer :­K 

50)

Question Stimulus :­

Electrical



How much is the torque developed if a 400 V DC shunt motor gave the following readings during
brake test: / ঍ॕक टॕĀ कॕ दग़रॊन, 400 V DC षॠट मख़टर नॕ योद ोनĀोल्खत रॎोडॠग ोदयॊ तख़ ोकतनॊ टॗक१  बुॊ ऻॖ:

Length of brake arm = 200cm / ঍ॕक आम१ कॎ लॠबॊइ१ = 200cm

Reading of spring balance at the end of brake arm = 40 kg­wt / ঍ॕक आम१ कॕ अॠोतम छख़र पर  ्Āॠग बॖल७ऺ कॎ
रॎोडॠग = 40 kg­wt

Supply voltage = 400 V / ऺကॊइ१ शख़Āॕज = 400 V

784.6 N­m

784.7 N­m

784.8 N­m

784.9 N­m

Correct Answer :­784.8 N­m 

51)

Question Stimulus :­

Electrical

In a two port network how hybrid parameter is expressed: / ोकऺॎ दख़ पख़ट१ शॊलॕ नॕटशक१  म७, ऻॊइो঍ड पॖरॊमॎटर कख़
कॖऺॕ ကঢ ोकयॊ जॊतॊ ऻॖ?

V1, I2

Y1, I1

I1, I2



V1, V2

Correct Answer :­V1, I2 

52)

Question Stimulus :­

Electrical

1­b,2­a,3­d,4­c

1­a,2­b,3­c,4­d

1­c,2­d,3­b,4­a

1­a,2­d,3­c,4­b



Correct Answer :­1­b,2­a,3­d,4­c 

53)

Question Stimulus :­

Electrical

What is the appropriate dielectric strength in (volts/mm) of gutta­percha? / गĀॊ­परचॊ कॊ उोचत डॊइ­
इलॕ्ঠ३क Ā३७थ (volts/mm) म७ ोकतनॊ ऻख़तॊ ऻॖ?

10,000­25,000

10,000­20,000

10,000­40,000

10,000­35,000

Correct Answer :­10,000­20,000 

54)

Question Stimulus :­

Electrical

______________circuit is used to make precise measurement of a resistors value using resistors,
voltage source and a galvanometer / रॕोजĀ १ऺ, शख़Āॕज ऺख़ १ऺ और गॖĀॕनख़मॎटर कॊ इĀॕमॊल करकॕ ोकऺॎ रॕोजĀ १ऺ शॖĀॐ कॕ
ऺटॎक मॊपन कॕ ोलए .............. ऺोक१ ट कॊ इĀॕमॊल ोकयॊ जॊतॊ ऻॖ।

Wheatstone bridge / ĀॎटĀख़न ो঍ज

Wien bridge / शॊइन ो঍ज

Carey Foster bridge / कॖरॕ फख़Āर ो঍ज 



Carey Foster bridge / कॖरॕ फख़Āर ो঍ज 

Kelvin bridge / कॕ्Āन ो঍ज 

Correct Answer :­Wheatstone bridge / ĀॎटĀख़न ो঍ज 

55)

Question Stimulus :­

Electrical

Name the circuit element maintaining a prescribed voltage across the terminals in spite of the
current flowing in those terminals / उऺ ऺोक१ ट एलॎम७ट कॊ नॊम बतॊय७ जख़ टोम१नက म७ कर७ट ঋशॊोऻत ऻख़नॕ कॕ बॊशजॐद उन
टोम१नက म७ ोनधॊ१ौरत शख़Āॕज कख़ म७टॕन करतॊ ऻॖ।

Ideal current source / आइडल कर७ट ऺख़ १ऺ

Independent source / इॠोडपॕĀ७ट ऺख़ १ऺ

Ideal voltage source / आइडल शख़Āॕज ऺख़ १ऺ

Dependent source / ोडपॕĀ७ट ऺख़ १ऺ

Correct Answer :­Ideal voltage source / आइडल शख़Āॕज ऺख़ १ऺ 

56)

Question Stimulus :­

Electrical

Which type of lamp holder from the following is fitted directly on the wooden board? / ोनĀोल्खत म७ ऺॕ
ोकऺ तरऻ कॊ लॖĀ ऻख़Āर ऺॎधॕ लकीॎ कॕ बख़ड१ पर लगॊयॊ जॊतॊ ऻॖ?



Pendant Holder / पॕĀ७ट ऻख़Āर

Angle Holder / एॠ गल ऻख़Āर

Bracket Holder / ঍ॖकॕट ऻख़Āर

Batten Holder / बॖटॕन ऻख़Āर

Correct Answer :­Batten Holder / बॖटॕन ऻख़Āर 

57)

Question Stimulus :­

Electrical

Which type of power in ac circuit is measured in volt­ampere (VA)? / एऺॎ ऺोक१ ट म७ ोकऺ तरऻ कॕ पॊशर कख़
शख़Ā­एĀॎयर (VA) म७ मॊपॊ जॊतॊ ऻॖ?

Apparent power / एपॖर७ट पॊशर

Active power / ए्ঠश पॊशर

Reactive power / ौरए्ঠश पॊशर

Power factor / पॊशर फॖঠर

Correct Answer :­Apparent power / एपॖर७ट पॊशर 

58)

Question Stimulus :­

Electrical



 Which is the type of emission  that heats the metal to a sufficient temperature to enable the free
electrons to leave the metal surface: / एĀॎषन कॊ शऻ कग़न­ऺॊ ঋकॊर ऻॖ जख़ ोकऺॎ मॕटल कख़ पयॊ१Ā तॊपमॊन तक गम१
करतॊ ऻॖ तॊोक इलॕঠ३ ॗन मॏঢ ऻख़कर मॕटल ऺरफॕऺ कख़ छख़ी ऺक७ :

Field emmission / फॎĀ एĀॎषन

Photo electric emmission / फख़टख़ इलॕ्ঠ३क एĀॎषन

Thermionic emmission / थोम१यख़ोनक एĀॎषन

Secondary emmission / ऺॕकॕĀ३ ॎ एĀॎषन

Correct Answer :­Thermionic emmission / थोम१यख़ोनक एĀॎषन 

59)

Question Stimulus :­

Electrical

Which type of lamp efficiency is 10 lumen/watt? / ोकऺ तरऻ कॎ ल॰प एोफोषएॠ ऺॎ 10 Āॐमन/शॊट ऻख़तॎ ऻॖ?

Mercury vapor lamp / मक१ रॎ शॕपर ल॰प

Sodium Vapor lamp / ऺख़ोडयम शॕपर ल॰प

Arc lamps / आक१  ल॰प

Tungsten filament lamp / टॠĀĀन ोफलॊम७ट ल॰प

Correct Answer :­Tungsten filament lamp / टॠĀĀन ोफलॊम७ट ल॰प 

60)



Question Stimulus :­

Electrical

 Given condition justifies which network theorems: The load impedance should be complex
conjugate of the internal impedance of the active network. / दॎ गयॎ षत१ ोकऺ नॕटशक१  Āख़रम कॊ ऺमथ१न करतॎ ऻॖ
: ऺोॿय नॕटशक१  कॎ आॠतौरक ঋोतबॊधॊ कॊ ऺ्Ā঒  ॠऺयॏ৒ लख़ड ঋोतबॊधॊ ऻख़नॊ चॊोऻए।

Reciprocity theorem / रॕऺॎपख़ो १ऺटॎ Āख़रम

Maximum power transfer theorem / मॖ्সमम पॊशर ट३ ॊॠऺफर Āख़रम

Milliams theorem / ोमोलयĀ Āख़रम

Compensation theorem / कĀĀॕषन Āख़रम

Correct Answer :­Maximum power transfer theorem / मॖ्সमम पॊशर ट३ ॊॠऺफर Āख़रम 

61)

Question Stimulus :­

Electrical

In which method of measurement of slip, the slip in percentage is given by = 100n/nsnr / ्ကप कॕ
मॊपन कॕ ोकऺ मॕथड म७, ঋोतषत म७ ्ကप = 100n/nsnr कॕ ॺप म७ ोदयॊ जॊतॊ ऻॖ

Synchronous watt / ो ॠऺॿख़नऺ शॗट

Electromechnical counter / इलॕঠ३ ख़मॕकॕोनकल कॊउॠटर

Mechnical differential counter / मॕकॕोनकल ोडफर७ ोषयल कॊउॠटर

Stroboscopic Method / Ā३ख़बख़Āख़ोपक मॕथड



Correct Answer :­Stroboscopic Method / Ā३ख़बख़Āख़ोपक मॕथड 

62)

Question Stimulus :­

Electrical

 In underground cables which components have high insulating properties but absorbs moisture:
/ अॠडरঁॊउॠड कॕबက म७, ोकऺ पॏज८ म७ अोधक इĀॏलॕोटॠग गॏण ऻख़तॊ ऻॖ लॕोकन शऻ नमॎ कख़ ऺख़ख लॕतॊ ऻॖ:

Polyvinyl cholride / पॗलॎोशनॊइल মख़रॊइड

Conductor / कॠ डঠर

Vulcanized rubber / शĀनॊइĀ रबर

Cross linked polyethylene / ॿॗऺ ोलॠĀड पॗलॎोथलॎन

Correct Answer :­Vulcanized rubber / शĀनॊइĀ रबर 

63)

Question Stimulus :­

Electrical

What is defined as the product of the voltage and current with conjugate? / कĀजॏगॕट कॕ ऺॊथ शख़Āॕज और
कर७ट कॕ ঋख़डঠ कॕ ॺप म७ ोकऺकख़ पौरभॊोहत ोकयॊ जॊतॊ ऻॖ?

Complex power /कĀကॕস पॊशर

Power transfer / पॊशर ट३ ॊॠऺफर

Power consumption /पॊशर कॠ जĀषन
Power balance / पॊशर बॖल७ऺ



Power balance / पॊशर बॖल७ऺ

Correct Answer :­Complex power /कĀကॕস पॊशर 

64)

Question Stimulus :­

Electrical

In which type of oil immersed transformer, the oil is pumped through windings to extract heat from
oil: / ोकऺ तरऻ कॕ ऑयल इमĀड१ ट३ ॊॠऺफॗम१र म७ ऑयल ऺॕ गम५ कख़ ोनकॊलनॕ कॕ ोलए शॊइॠोडॠग ऺॕ ऻख़कर तॕल कख़ पॠप ोकयॊ जॊतॊ ऻॖ:

Oil immersed water cooled transformer / ऑयल इमĀड१ शॊटर कॐ Ā ट३ ॊॠऺफॗम१र

Oil immersed forced air cooled transformer / ऑयल इमĀड१ फख़Āड१ एयर कॐ Ā ट३ ॊॠऺफॗम१र

Oil immersed forced oil cooled transformer / ऑयल इमĀड१ फख़Āड१ ऑयल कॐ Ā ट३ ॊॠऺफॗम१र

Oil immersed self cooled transformer / ऑयल इमĀड१ ऺॕĀ कॐ Ā ट३ ॊॠऺफॗम१र

Correct Answer :­Oil immersed forced oil cooled transformer / ऑयल इमĀड१ फख़Āड१ ऑयल कॐ Ā ट३ ॊॠऺफॗम१र 

65)

Question Stimulus :­

Electrical

Which part of DC machines converts the alternating current induced in armature conductors into
unidirectional current in the external load circuit? / एসटरनल लख़ड ऺोक१ ट म७, डॎऺॎ मषॎन कॊ कग़न­ऺॊ पॊट१
आम८चर कॠ डঠ १ऺ म७ ঋॕौरत अĀरनॕोटॠग कर७ट कख़ यॐोनडॊयरॕলनल कर७ट म७ ॺपॊॠतौरत करतॊ ऻॖ?

Commutator / कĀॐटॕटर



Pole coils / पख़ल রॗयက

Armature core / आम८चर कख़र

Armature windings / आम८चर शॊइॠोडॠৗ

Correct Answer :­Commutator / कĀॐटॕटर 

66)

Question Stimulus :­

Electrical

Which method of determination of voltage regulation gives more accurate results because it is
based on the separation of armature leakage reactance effect? / शख़Āॕज रॕगॏलॕषन कॕ ोडटोम१नॕषन कॊ कग़न ऺॊ
मॕथड अोधक ऺटॎक पौरणॊम दॕतॊ ऻॖ ভख़ॠोक शऻ आम८चर लॎकॕज कॕ ौरएঠ७ऺ ঋभॊश कॕ अलग ऻख़नॕ पर आधॊौरत ऻख़तॊ ऻॖ?

Ampere Turns Method / एĀॎयर टĀ१ मॕथड

Synchronous Impedance Method / ो ॠऺॿख़नऺ इĀॎड७ऺ मॕथड

MMF Method / एमएमएफ मॕथड

Potier Method / पख़ोटयर मॕथड

Correct Answer :­Potier Method / पख़ोटयर मॕथड 

67)

Question Stimulus :­

Electrical

Match the following:­



1.Sink a. Improve the steady state behavior of
a system

2.Lag
compensator b. Output node in the signal flow graph

3.Cut­off rate c. Ratio of actual damping to critical
damping

4.Damping
Ratio

d. The slope of the log­magnitude curve
near the cut­off

ोनĀोल्खत कॊ मॕल करॊयॕॡ­

1.Įĝंक a. Įकĝı Įĝːđ कĸ  ːıĄı  ĸːट ĮęĞĹĮęĒē को ďąĭनĭ
2.लĹग कɻĝĸटē b. Įĝưल ɢो ŤĭĎ đŐ आउटčĲट नोĄ
3.कट­ऑĎ ēĸट c. एƁĲअल ĄĹİɼंग औē ĮŢĮटकल ĄĹɼंग कĭ ēĸ ĮĚĒो
4.ĄĹİɼंग ēĸ ĮĚĒो d. कट­ऑĎ कĸ  čĭĝ लĺग đĹưıǨĳĄ कęŊ कĭ ˠोč

1­b,2­a,3­d,4­c

1­a,2­b,3­c,4­d

1­c,2­d,3­b,4­a

1­a,2­d,3­c,4­b

Correct Answer :­1­b,2­a,3­d,4­c 

68)

Question Stimulus :­

Electrical

In which type of wiring vulcanized indian rubber (VIR) and polyvinyl chloride (PVC) insulated wires
are used as conductors / ोकऺ तरऻ कॎ शॊयौरॠग म७, शĀॕनॊइĀ इॠोडयन रबर और पख़लॎोशनॊयल মख़रॊइड ကॊरॊ इन ॏऺलॕटॕड तॊर



are used as conductors / ोकऺ तरऻ कॎ शॊयौरॠग म७, शĀॕनॊइĀ इॠोडयन रबर और पख़लॎोशनॊयल মख़रॊइड ကॊरॊ इन ॏऺलॕटॕड तॊर
कॊ चॊलक कॕ ॺप म७ इĀॕमॊल ोकयॊ जॊतॊ ऻॖ

CTS wiring / ऺॎटॎएऺ शॊयौरॠग

Cleat wiring / মॎट शॊयौरॠग

Lead sheathed wiring / लॎड षॎथॕड शॊयौरॠग

Conduit wiring / कĀĀॐट शॊयौरॠग

Correct Answer :­Cleat wiring / মॎट शॊयौरॠग 

69)

Question Stimulus :­

Electrical

Given volt­amp relationship   determines which parameter of circuit elements / ोदयॊ गयॊ शख़Ā­
एĀॎयर  ॠऺबॠध    ऺोक१ ट एलॎम७ट कॕ ोकऺ पॖरॊमॎटर कख़ ोनधॊ१ौरत करतॊ ऻॖ?

Resistance / रॕोजĀ७ऺ

Conductance / कॠ डঠ७ऺ

Capacitance / कॖपॕोऺट७ऺ

Inductance / इॠडঠ७ऺ

Correct Answer :­Inductance / इॠडঠ७ऺ 

70)



Question Stimulus :­

Electrical

Which network topology term got reference directions and marked on the edges of the graph by
arrow heads? / नॕटशक१  टख़पख़लॗजॎ कॕ ोकऺ षĀ कख़ ोदषॊ कॊ  ॠऺदभ१ ঋॊĀ ॽआ ऻॖ और उऺॕ ोकनॊरख़ ॠ पर तॎर कॕ ोनषॊन ऺॕ ोचोĀत
ोकयॊ गयॊ ऻॖ?

Sub graph / ऺब ঁॊफ

Node / नख़ड

Vertex / शट८স

Oriented graph / ओौरयॕကॕड ঁॊफ

Correct Answer :­Oriented graph / ओौरयॕကॕड ঁॊफ 

71)

Question Stimulus :­

Electrical

 Which is the negative grid voltage for a given plate potential at which ionization of the gas starts?
/ ोकऺॎ ोदए गए ကॕट पख़ट७ोषयल कॊ ोनगॕोटश ोঁड शख़Āॕज ভॊ ऻख़तॊ ऻॖ ोजऺ पर गॖऺ आयनॎकरण षॏॺ ऻख़तॊ ऻॖ?

Grid baffles / ोঁड बॖफက

Control grid / कॠ ट३ ख़ल ोঁड

Thyratron /थॊयरॖट३ न

Critical grid voltage / ोॿोटकल ोঁड शख़Āॕज



Correct Answer :­Critical grid voltage / ोॿोटकल ोঁड शख़Āॕज 

72)

Question Stimulus :­

Electrical

 Which part of the transformer is constructed by the L, I and E type of laminated steel? / ट३ ॊॠऺफॗम१र कॊ
कग़न­ऺॊ भॊग लॕोमनॕटॕड Āॎल कॕ L, I और E ঋकॊर ऺॕ बनॊ ऻख़तॊ ऻॖ?

Coils / রॗयက

Inslutating materials / इॠĀĀॐटॕोटॠग मटॕौरयက

Magnetic core /  मॖ্ॕोटक कख़र

Tank and cooling system / ट॰क और कॐ ोलॠग ोऺĀम

Correct Answer :­Magnetic core /  मॖ্ॕोटक कख़र 

73)

Question Stimulus :­

Electrical

With the decreasing speed of the motor, what happens to the required capacitive kVAr? / मख़टर कॎ
Āॎड कम ऻख़नॕ कॕ ऺॊथ, जॺरॎ कॖपॕोऺोटश kVAr म७ ভॊ ऻख़तॊ ऻॖ?

Increases/बढतॊ ऻॖ

Increases then decreases/ बुतॊ ऻॖ ोफर घटतॊ ऻॖ

Remains constant/ ्Āथर रऻतॊ ऻॖ
None of these /इनम७ ऺॕ कख़ई नऻॎ ॠ



None of these /इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Increases/बढतॊ ऻॖ 

74)

Question Stimulus :­

Electrical

In 3 phase system with what degree there is a phase displacement between different phases / 3
फॕज ोऺĀम म७, अलग­अलग फॕजख़ ॠ म७ ऻख़नॕ शॊलॊ फॕज ोशĀथॊपन ोकतनॎ ोडঁॎ कॊ ऻख़तॊ ऻॖ?

360°

220°

180°

120°

Correct Answer :­120° 

75)

Question Stimulus :­

Electrical

Which of the following method used for measuring high resistance? (Given: above 100kΩ) / उৡ
रॕोजĀ७ऺ कख़ मॊपनॕ कॕ ोलए, ोनĀोल्खत म७ ऺॕ ोकऺ ोशोध कॊ इĀॕमॊल ऻख़तॊ ऻॖ? (ঋदĀ: 100kΩ ऺॕ अोधक )

Megger Method / मॕ৅र ोशोध

Ohmeter Method / ओमॎटर ोशोध



Potentiometer Method / पख़ट७ोषयख़मॎटर ोशोध

Wheat stone bridge Method / Āॎट Āख़न ो঍ज ोशोध

Correct Answer :­Megger Method / मॕ৅र ोशोध 

76)

Question Stimulus :­

Electrical

What is the rectification efficiency if an applied input ac power to a half wave rectifier is 150 watts?

Given dc output power = 50 watts / योद ोकऺॎ ऻॊफ शॕश रॕঠॎफॊयर पर इĀॕमॊल ोकयॊ गयॊ इĀॏट एऺॎ पॊशर 150 शॊट ऻख़
तख़ रॕঠॎोफकॕषन एोफोषएॠ ऺॎ ভॊ ऻख़गॎ?

ঋदĀ डॎऺॎ आउटपॏट पॊशर = 50 शॊट

30% / 30%

31% / 31%

32% /32%

33% / 33%

Correct Answer :­33% / 33% 

77)

Question Stimulus :­

Electrical

Which factor is a ratio of the sum of the individual maximum demands of the various subsystems of
a system to the maximum demand of the whole system? / कग़न­ऺॊ फॖঠर ोकऺॎ ोऺĀम कॕ ोशोभĀ ऺबोऺĀĀ कॕ



a system to the maximum demand of the whole system? / कग़न­ऺॊ फॖঠर ोकऺॎ ोऺĀम कॕ ोशोभĀ ऺबोऺĀĀ कॕ
इनोडोशजॏअल मॖ्সमम ोडमॊॠड कॕ यख़ग और पॐरॕ ोऺĀम कॕ मॖ्সमम ोडमॊॠड कॊ अनॏपॊत ऻख़तॊ ऻॖ?

Capacity factor / कॖपॕोऺटॎ फॖঠर

Diversity factor / डॊयशो १ऺटॎ फॖঠर

Demand factorn / ोडमॊॠड फॖঠर

Load factor / लख़ड फॖঠर

Correct Answer :­Diversity factor / डॊयशो १ऺटॎ फॖঠर 

78)

Question Stimulus :­

Electrical

What will be the value of impedance of circuit of a resistor of 13Ω in series with an inductive
reactance of 14Ω? / 14Ω कॎ इॠड्ঠश ौरएঠ७ऺ शॊलॎ ऺॎौरज म७, ोकऺॎ 13Ω कॕ रॕोजĀर कॎ ऺोक१ ट कॕ इĀॎड७ऺ कॊ मॊन ভॊ
ऻख़गॊ

19Ω

22Ω

21Ω

20Ω

Correct Answer :­19Ω 

79)



Question Stimulus :­

Electrical

What is the current carrying capacity (amp) of 0.0001 ohms resistor  with 500 watts power
dissipation? / 500 शॗट पॊशर ोडोऺपॕषन कॕ कॊरण, 0.0001 ओĀ कॕ रॕोजĀर कॎ कर७ट कॖौरॠग कॖपॕोऺटॎ  (amp) ोकतनॎ
ऻख़गॎ?

2236

1000

700

150

Correct Answer :­2236 

80)

Question Stimulus :­

Electrical

In which type of windings extra insulation between layer is required in addition to insulation of
conductors: / ोकऺ तरऻ कॎ शॊइॠोडॠग म७,  ॏऺचॊलक कॕ इĀॏलॕषन कॕ अलॊशॊ परतख़ ॠ कॕ बॎच अोतौरঢ इĀॏलॕषन कॎ जॺरत ऻख़तॎ ऻॖ:

Cross over windings / ॿॗऺ ओशर शॊइॠोडॠৗ

Continous disc windings / कॗ्ကကॏअऺ ोडĀ शॊइॠोडॠৗ

Sandwich windings /  ॰ऺडोशच शॊइॠोडॠৗ

Helical windings / ऻॕोलकल शॊइॠोडॠৗ



Correct Answer :­Helical windings / ऻॕोलकल शॊइॠोडॠৗ 

81)

Question Stimulus :­

Electrical

In which type of lightning systems 90­100% of the light is directed downwards and 0­10% of the
light upwards: / ोकऺ तरऻ कॕ लॊइटोनॠग ोऺĀम म७ 90­100 ঋोतषत तक ঋकॊष कख़ नॎचॕ कॎ ओर ঋॕोहत ोकयॊ जॊतॊ ऻॖ और 0­
10 ঋोतषत ঋकॊष कख़ ऊपर कॎ ओर ঋॕोहत ोकयॊ जॊतॊ ऻॖ?

Semi direct / ऺॕमॎ डॊयरॕঠ

Diffusing / ोडĀॐोजॠग

Direct Lighting / डॊयरॕঠ लॊइोटॠग

Indirect Lighting / इĀॊयरॕঠ लॊइोटॠग

Correct Answer :­Direct Lighting / डॊयरॕঠ लॊइोटॠग 

82)

Question Stimulus :­

Electrical

A synchronous motor operates as a synchronous condenser, when it is______ / एक ो ॠऺॿख़नऺ मख़टर
ो ॠऺॿख़नऺ कॕ ॺप म७ कॊम करतॊ ऻॖ जब शऻ_______

operated at unity power factor / यॐोनटॎ पॊशर फॖঠर पर ऑपरॕट ऻख़तॊ ऻॖ

under­excited / अॠडर­एসॊइटॕड ऻख़तॊ ऻॖ

over­excited / ओशर­एসॊइटॕड ऻख़तॊ ऻॖ



over­excited / ओशर­एসॊइटॕड ऻख़तॊ ऻॖ

connected in parallel with condensers / कĀॕĀर कॕ ऺॊथ ऺमॊनॊॠतर कनॕঠ ऻख़तॊ ऻॖ

Correct Answer :­over­excited / ओशर­एসॊइटॕड ऻख़तॊ ऻॖ 

83)

Question Stimulus :­

Electrical

How many coils are there in a wattmeter? / ोकऺॎ शॊटमॎटर म७ ोकतनॕ রॗयက ऻख़तॕ ऻ॰?

2

3

4

1

Correct Answer :­2 

84)

Question Stimulus :­

Electrical

 The ratio of rms value of ac component to the dc component in the rectifier output is known
as___________ /   रॕঠॎफॊयर आउटपॏट म७, एऺॎ कॗĀख़न७ट और डॎऺॎ कॗĀख़न७ट कॕ बॎच कॕ आरएमएऺ शॖĀॐ कॕ औऺत
कख़________कॕ ॺप म७ जॊनॊ जॊतॊ ऻॖ। 

Filter circuit / ोफĀर ऺोक१ ट



Breakfast voltage / ঍ॕकफॊĀ शख़Āॕज

Ripple factor /ौरĀल फॖঠर

Bridge rectifier / ो঍ज रॕঠॎफॊयर

Correct Answer :­Ripple factor /ौरĀल फॖঠर 

85)

Question Stimulus :­

Electrical

A properly doped crystal diode which has a sharp breakdown voltage is known as _______ / ठॎक ऺॕ
डख़प ोकए गए ोकऺॎ ोॿĀल डॊयख़ड म७ जख़ षॊप१ ঍ॕकडॊउन शख़Āॕज ऻख़तॊ ऻॖ शऻ________कॕ ॺप म७ जॊनॊ जॊतॊ ऻॖ।

Zener diode / जॕनर डॊयख़ड

Zener voltage / जॕनर शख़Āॕज

Zener current / जॕनर कर७ट

Zener burn out / जॕनर बन१ आउट

Correct Answer :­Zener diode / जॕनर डॊयख़ड 

86)

Question Stimulus :­

Electrical

What is/are the different factors for the selection of electric drives? / इलॕ्ঠ३क ड३ ॊइĀऺ कॕ चॏनॊश कॕ ोशोभĀ
कॊरक ভॊ ऻख़तॊ /ऻख़तॕ ऻॖॡ



Transient operation requirements / ट३ ॊॠोऺएॠ ट ऑपरॕषन ौरরॊयरम७टऺ

Reliability / ौरलॊयोबोलटॎ

Steady state operation requirements / Āॕडॎ Āॕट ऑपरॕषन ौरরॊयरम७टऺ

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­All of the above / उपरख़ঢ ऺभॎ 

87)

Question Stimulus :­

Electrical

What is defined as the ratio of energy radiated as light to the total energy radiated? / ঋकॊष कॎ तरऻ
ोशोकौरत ऊजॊ१ और कॏ ल ोशोकौरत ऊजॊ१ कॕ अनॏपॊत कॕ ॺप म७ ोकऺॕ पौरभॊोहत ोकयॊ जॊतॊ ऻॖ?

Depreciation factor / डॕोঋोषयॕऺन फॖঠर

Luminous efficiency / Āॐोमनऺ एोफोषय७ऺॎ

Maintenance factor / म७टॕनॕĀ फॖঠर

Coefficient of utilisation / कख़एोफोषय७ट ऑफ यॐटॎलॊइजॕषन

Correct Answer :­Luminous efficiency / Āॐोमनऺ एोफोषय७ऺॎ 

88)

Question Stimulus :­

Electrical



Find the total emf generated in a shunt generator which delivers 200A at terminal voltage of 230 V,
the armature resistance and shunt field resistance are 0.08Ω and 50Ω respectively. / ोकऺॎ षॠट जॕनरॕटर
म७ कॏ ल इ१एमएफ Āॊत कर७  जख़ 230 V कॕ टोम१नल शख़Āॕज पर 200A दॕतॊ ऻॖ, आम८चर रॕोजĀ७ऺ और षॠट फॎĀ रॕोजĀ७ऺ ॿमष: 0.08Ω
और 50Ω ऻ॰।

246.4 V

240.6 V

250.4 V

260.6 V

Correct Answer :­246.4 V 

89)

Question Stimulus :­

Electrical

In which process the transfer of the heat is from one point to another  due to the actual motion of
the molecules of a fluid: / ोकऺ ঋोॿयॊ कॕ तऻत, ोकऺॎ तरल पदॊथ१ कॕ मॗोलভॐက कॕ शॊĀोशक मख़षन कॕ कॊरण उĀĀ ऊĀॊ
एक ोबॠदॏ ऺॕ दॐ ऺरॎ ोबॠदॏ तक Āथॊनॊॠतौरत ऻख़तॎ ऻॖ:

Convection /  ॠऺशऻन

Conduction / चॊलन

Radiation / ोशोकरण

Specific heat / अĀोधक तॊप/गम५

Correct Answer :­Convection /  ॠऺशऻन 



90)

Question Stimulus :­

Electrical

Which equation defines bandwidth of resonant circuit? / कग़न­ऺॊ ऺमॎकरण रॕजख़न७ट ऺोक१ ट कॕ ब॰डोशद्थ कख़
पौरभॊोहत करतॊ ऻॖ?

Correct Answer :­  

91)

Question Stimulus :­

Electrical

Find the load of current if load resistance is 25 Ω

Given: DC source generating 550V, internal resistance of 1500Ω / योद लख़ड रॕोजĀ७ऺ 25 Ω ऻख़ तख़ कर७ट कॊ
लख़ड Āॊत कर७

ঋदĀ: DC ऺख़ १ऺ जॕनरॕोटॠग 550V, 1500Ω कॊ इॠटरनल रॕोजĀ७ऺ

0.627A



0.527A

0.427A

0.360A

Correct Answer :­0.360A 

92)

Question Stimulus :­

Electrical

 What is the average value of current for a pure sine wave? / ोकऺॎ षॏĀ ऺॊइन तरॠग कॕ ोलए कर७ट कॊ औऺत
मॊन ভॊ ऻख़तॊ ऻॖ?

0.637Imax

0.737Imax

0.837Imax

0.937Imax

Correct Answer :­0.637Imax 

93)

Question Stimulus :­

Electrical

Which type of transmission line has length up to 80 km? / ोकऺ तरऻ कॎ ट३ ॊॠऺोमषन लॊइन म७ लॠबॊइ१ 80 km
तक ऻख़तॎ ऻॖ?

Short transmission line / षॗट१ ट३ ॊॠऺोमषन लॊइन



Short transmission line / षॗट१ ट३ ॊॠऺोमषन लॊइन

Medium transmission line / मॎोडयम ट३ ॊॠऺोमषन लॊइन

Long transmission line /लॗĀग ट३ ॊॠऺोमषन लॊइन

Flexible transmission line / Āॕ्সबल ट३ ॊॠऺोमषन लॊइन

Correct Answer :­Short transmission line / षॗट१ ट३ ॊॠऺोमषन लॊइन 

94)

Question Stimulus :­

Electrical

Which is the process used to convert alternating current (AC) to direct current (DC)? / अĀरनॕोटॠग
कर७ट (AC) कख़ डॊयरॕঠ कर७ट (DC)  म७ ॺपॊॠतौरत करनॕ कॕ ोलए ोकऺ ঋोॿयॊ कॊ इĀॕमॊल ोकयॊ जॊतॊ ऻॖ?

Rectification / रॕঠॎोफकॕषन

Amplification / एĀကॎोफकॕषन

Control  / कॠ ट३ ख़ल

Generation / जॕनरॕषन

 

Correct Answer :­Rectification / रॕঠॎोफकॕषन 

95)

Question Stimulus :­



Electrical

In RLC series circuit under variable frequency what is initially negative and becomes zero and then
positive? / RLC ऺॎौरज ऺोक१ ट म७ शॖौरएबल ঌॎর७ ऺॎ कॕ तऻत षॏॺ म७ ভॊ ोनगॕोटश ऻख़तॊ ऻॖ और उऺकॕ बॊद शऻ षॐက ऻख़ जॊतॊ ऻॖ तथॊ
उऺकॕ बॊद पॗोजोटश ऻख़ जॊतॊ ऻॖ?

Net reactance / नॕट ौरएঠॕĀ

Capacitve reactance / कॖपॕोऺोटश ौरएঠॕĀ

Inductive reactance / इॠड्ঠश ौरएঠॕĀ

Impedance / इĀॎड७ऺ

Correct Answer :­Net reactance / नॕट ौरएঠॕĀ 

96)

Question Stimulus :­

Electrical

 Which type of connection is used for both large voltage and low voltage rating transformers?
/ अोधक शख़Āॕज और कम शख़Āॕज दख़नख़ ॠ तरऻ कॎ रॕोटॠग शॊलॕ ट३ ॊॠऺफॗम१ १ऺ कॕ ोलए ोकऺ तरऻ कॕ कनॕলन कॊ इĀॕमॊल ऻख़तॊ ऻॖ?

Delta­Delta connection / डॕĀॊ­डॕĀॊ कनॕলन

Delta­Wye connection / डॕĀॊ­शॗय कनॕলन

Wye­Wye connection / शॗय­शॗय कनॕলन

Wye­Delta connection / शॗय­डॕĀॊ कनॕলन

Correct Answer :­Delta­Delta connection / डॕĀॊ­डॕĀॊ कनॕলन 



97)

Question Stimulus :­

Electrical

What is operating temperature of thoriated tungsten emitter? / थख़ौरएटॕड टॠĀĀन एमॎटर कॊ ऑपरॕोटॠग तॊपमॊन
ভॊ ऻख़तॊ ऻॖ?

1700°C

2327°C

750°C

3227°C

Correct Answer :­1700°C 

98)

Question Stimulus :­

Electrical

What is the radius of an electron? / ोकऺॎ इलॕঠ३ ॗन कॎ ोআĀॊ ोकतनॎ ऻख़तॎ ऻॖ?

2.81×10­15 metre

9.0×10­31 kg

1.602×10­19 coulomb



1.77×1011 coulomb/kg

Correct Answer :­2.81×10­15 metre 

99)

Question Stimulus :­

Electrical

Find the voltage drop due to transformer resistance of a 4 phase electric arc furnace if the current
drawn is 5000 A and reactance of transformer to secondary is 0.0035Ω and resistance of
transformer to secondary is 0.0055Ω. / योद ोलयॊ गयॊ  5000 A कर७ट ऻख़ और ऺॕक७ डरॎ ट३ ॊॠऺफॗम१र कॊ ौरएঠ७ऺ
0.0035Ω ऻख़ तथॊ ऺॕक७ डरॎ ट३ ॊॠऺफॗम१र कॊ रॕोजĀ७ऺ 0.0055Ω ऻख़ तख़ ोकऺॎ 4 फॕज शॊलॎ इलॕঠ३ ॗोनक आक१  फन८ऺ कॕ ट३ ॊॠऺफॗम१र
रॕोजĀ७ऺ कॕ कॊरण ऻख़नॕ शॊलॕ शख़Āॕज ड३ ॗप कख़ Āॊत कर७।

27.5 V

28.5 V

29.5 V

30.5 V

Correct Answer :­27.5 V 

100)

Question Stimulus :­

Electrical

 What is the approximate value of resistance of filament of a 150 W at 350 V bulb? / 350 V पर 150
W कॕ एक बĀ कॕ ोफलॊम७ट कॊ अनॏमॊोनत रॕोजĀ७ऺ ोकतनॊ ऻख़गॊ?



810 Ω

855 Ω

816 Ω

796 Ω

Correct Answer :­816 Ω 


